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1 Separate Optical Mark Reader (OMR e lied g _
Please read and follow the instrucﬁ)o f:'*s.Werbheet 1s supplied to you along with Question Paper Booklet.

A .
required data. on the OMR Answer Sheet for marking the responses and the

2 The candidate should ensure that the B
Code supplied are same.

3. Immediately on opening the Questign Pa .
. per Booklet by tearing off the paper seal, please check for
(i) The same booklet code (A/B/C/ D) on each page, (ii) Serial Number of the questions (1-200), (iii) The
number of pagfes and (iv) Correct Printing, I case of any defect, please report to the invigilator and ask for
replacement of booklet with same code within five minutes from the commencement of the test.

4. EleCU'_OT‘jC gadgets like O_Cell Phone, Pager, Calculator, Watches and Mathematical/Log Tables are not
permitted into the examination hall,

Darken the appropriate circles of (1), (2), (3) or (4) in the OMR sheet corresponding to correct or the most

appropriate answer to the concerned question number in the sheet. Darkening of more than one circle
against any question automatically gets invalidated.

g- Rough work should be done only in the space provided in the Question Paper Booklet.

Return the convener copy of the OMR Answer Sheet to the Invigilator before leaving the examination hall.
Failure to return the OMR is liable for criminal action.

8. The duplicate OMR Sheet and Question Paper Booklet shall be taken away by the candidate and should be
preserved till the declaration of results.

9. The Question Paper Booklet is printed in two languages viz. English/ Telugu or English/ Urdu. In case of

any doubt or ambiguity in any question, then the English version is considered to be the correct version.
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Time : 3 Hours Marks : 200
Instructions:

(i)

(i)

Fach question carrics one mark.,
8 (BHD &8 Sty Sodh.
Choose the correct OF MEst 8PPropriats answer from the given options to the following questions and

darken, with blue/black ball point pen the oo responding digit (1), (2), (3) or (4) in the circle pertaining to
the question number concerned in the QMR a swer Sheet, separately supplied to you.

Br0D By B8 BHHD ABWES B Ko, HLPTEEND JPED OO SrDoB @od (1), (2), (3) 88
(4) SBore 55 OMR SIrGe B (59 50008003 Sot o HBEH ap/eps ard Sawols Dy
ASBFACD DOBHBY.

3 3 3
If 2x — 5y =7z — 3y then, for xyz 0, X~ 343"~ 8y” _
Xyz

3 3 3
2x —5y=7z-3y, xyz# 0, ©o0IHH 8x” 3437 -8y~ _

xyz
(1) 80 2 82. 1)( 84 4 86

A person travels from A to Bat 75 kmph in a Car and in the returnjourney the speed is redu.ced by 15 kmph.
If the total time taken is four-and-half hours then the distance (in kms) between A and B is :

&8 S58 A 08 BE 56 S5m0 ot 758, 8, Srfos® 38, B8 (Saireos® SRy Kowsd 158.5
SROTRD. & g0 (HATETAS TeorhR)S Hoen a’n@ﬁ A, Bo gl &r5o(8. .08 :
(1) 100 2 120 @ 140 @ 150

Three persons A, B, C start a company and contribute a total of ¥ 10,70,000 towards its ru.rming.- A
contributes Z 50,000 more than B, and B contributes ¥ 60,000 more than C. If the company earns a profit of

¥ 2,72,850, then the share of A is : (in rupees)

Sty Sgen A, B, Cen Z10,70,000 2éynas° ¥ S0V @EodTs. B eynd ST ADipnd T50,000

;.]g);é 2830 C Dévod g;]a B 3;6&3&)& T 60,000 E)é)&_a’). w S02d8 T 2,72,850 ergfo E'J"é woHe® A
L [5)

T : (Grpdroved®)
(1) 104,550 45 96,800 @) 91,800 @ 76,500

The volume of a sphere equals its surface area only when its radius (in units) equals :
&8 o $os0bsreao ool 080 Bererss JErSHA Sdeo g0 (creE®) (Bod SoagH

BRSSP SEED :
M 1 e @ 2 @ 4 Sl

If the angles of a triangle are in the ratio 2: 3 : 7 then the largest angle is :
28 BeHmostn Empen 2:3:7 986" 808, T8 ©iDY s‘?o :
(1 90° @ 105° (3) 120 @ 150°

w\!

The number of positive divisors of 1995is:

1995 Gw¥) G gresste dogy ﬂ)/ -

(1 ) 8 ) 16 4) 64

— -
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While walking a distance of 24 km, a man noticed that after walking for 1 hour and

5 A . .
40 minutes, the distance walked by him was = of the Fémaining distance. His speed of walking is :

(1)  4km/hr (2) Skm/hr f" 6 km/hr 4) 8km/hr
o 58 24 8. 2. tovoeR) SPOREED Bcirdoscrs pADENBOR 2.8 Kot 40 Do EBaPe KSVODRBHOS

1) 485 /K. (@ 58./Ko. 3) 68.5./Ko. @) 88.%. /0.

A certain sum is given on compound interest at some rate. The sum amounts to ¥ 7,350 and Z¥8,575at the
end of 2 years and 3 years respéctively. The sum given on compound interest is :

508 Rrduyh Eod Bend SESES adwlhod. © frdin 255 HoHHTFOEPS HBAD 3 HoBE)ToES

(1) 5,000 % 5,400 (3) 6,000 @4) T 6,400

The least multiple of 7, which leaves a remainder of 5, when divided by 6,9 and 15 s :

7.
0% [BSrBoDS Erto DADS BrE0st ; 4 S0 ®D. w3 S&8 Bro -
8.
Sodre T 7,350, 8,575 mm eowod. SESE8 ad)d vy :
9.
¢

6,9 %0BS 15 03 grROSM™ 5 Fhsn Six 4od 7 AwE) rhdered® ©B 03 Sogy :
(1) 450 Q)/ 455 (3) 560 @) 378

10,

=
Taps A and B fill an empty tank individually in 8 hours and 6 hours respectively, while
tap C empties the full tank in 12 hours. Due toa problem tap C could not be closed. If the taps A and Bare
opened alternately for one hour each starting with A, the time taken (in hours) to fill the tank is :

¥ g &80 A, B o3 Hom DEIEM SKT 8 fote, 6Koten HSchos® odre, Ced Ho Jotd
62 12 fowd’ o8 D08, Fod By S S0 C R Surd Sahtro HEY Bt%. A, Bod SKHIe L85
Soxi 288 2.8 Kot Fen DEr, & 68 A & (G0 & & Dokl 58 Bavo (Kotrdd) :

@' 6 8 @) 16 @ 24
,
11. January 1, 2018 was Monday. Then January 1, 2019 falls on the day :
,(*{ Tuesday (2) Wednesday (3) Thursday (@) Saturday
22558 1,2018 5 RbSozrdo. @ a¥EB 1,2019 B $J) B0
(1) HoKgardo (2 oo @) Ko @) o
12.

A tent is in the shape of a cone surmounted on the top of a cylinder. Height of the cone is half that of the

cylinder and the base radius of thecylinder is 3 m. If the canvas required for the tentis 198 m?, then the total
height of the tent (in meters) is :

i oo o) e°Bo 28 JZT0 P 0% BHoNseRD. oD I, wmo JHE® Bio Bk
Ao gbe g0 3 8. HEroR8 SOIR ] g 198 .2 o8, HEso 380 & (wgs®) : (;

OB @ % o 8 @4 12

4-D
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13. Three ns P, Q, R starta com 111
, Pany with thejr contributions being in the ratio 315 After 3 months,
P withdraws half of his contribution, ang gte, another 9 months ; a profit of 3,16,000 is divided among
them. The share of P is : (in rupees)
Sorft Gghen P,Q, Ren 3" z gﬂ:naess Degod 28 .8 5o (@rBodomrth. Hweh Jvo Stoars P
83 2igodd’ ks SUVHOLRD. 208 g0 Fov S SO e 73,16,000 B SoHEHOLRE.
06" P8 SIS e (Erdraved®)
(1) 1,20,000 @  1,00,000 ;a)/ 96,000 (4) 90,000
14.  The remainder when (67% + 67) is divided by 68is:
6757 + 67 % 68 8° growe $3) 3o
ﬁl‘( 1 (2 65 (3) 66 4 67
15. A train starts with some number of passengers. At the first station, one third of the passengers get down
from the train and 280 passengers get into the train. At the second stabon, half of the passengers get down
and 12 passengers getin. Now, the number of passengers in the train is 248. The number of passengers in
the train at the beginning is :
FodH0b (HardHes® o8 Ben odHeodtsh. Fnsd RAHE® Krdow 28 Ho (HardHen A
280 508 (HASrB%en Beodts (38008, Bo&® PEHS® HardHd® SKo Hob BAJT 12 Hod &°8
(5538008, 2 Bens® (HoirdHe Sorg 248 oond [Fogod’ Jend® &) (HasrdDe Sogy |
1 192 ’ 2 288 @ 324 4 376
16. If ABCD is a cyclic quadrilateral in which |ABC = 47° and [BCD = 97° then |ADC - |BAD =
ifab Setsmo ABCDE® |ABC = 47°, [BCD =97° ®owd |ADC - |BAD =
P-T 5-D
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¢ of the elements j, the set
' thEﬂ the Correct

s
’

._..h_‘
(5, I -9
W[ ro
2|3
>

=W

Ifa) a5 a3, a,and ag are the decreasing orde i

. 1 Lis = IlS *

matching of the values in List - I to those given "
S

ﬁ@;ﬁ {i 3 Z E E] 66:'0 HaresPY @55655":9 a]r az; 33, 34, aS @Q]Ja ﬂ‘ﬂa"‘l 66;} Qm{;bm

0T - 115008 ess5t)08 :

List-1/ex8age -1
@ a -a, (i)

List-11/#B8 =11

W= =

®  2a,-a, (il

(C) 533 = 481 (lll)

M= o=

/

The correct matching/ 580 &6 :
(1) (@), (b)-(i), (0)-(iv) A @ ®-), (o))
®) (@), (b)-(i), (c)-6) @ @) B)v), (o

18.

A and B undertake to do a work for ¥ 6,000. A alone and B alone can do th i
: R at work
respectively. With the help of C, they have finished the work in3 days. The share of E;'s ll: : Hand S

A, Beo 2.8 330 76,000 0% 30608 2.83)060 HEENEB. A, B o0 DEDAM e 539 SBIMe 6, 8 Goars’
Babrowh, CRosaos® 6 509 3665 ro3n0. @B B - A
(1)  Z2400 ((2)/ % 2,250 (3) T2,000 @ T1,500

19.

The ages of A and Bare in theratio 2 : 5. Eight years later, the ratio of thei i : ir presen
s, e 1 ghtys 0ol theirages will be 22: 43. Their p t
A S0din B G Sabine 2: 50586° aTmon. VDB SoSE)Biven Shird, 0 Sabdine 958
22: 43 0H&HoD. O (SRS Sabigen (Son k) ;

14, 35 (2) 16,40 (3) 18,45 (4) 20,50

20.

IfP, Q, R and S are the mid-points of the sides AB, BC. CD and DA i i
Rt o~ '+ ,BC,CD an respectively of a quadrilateral ABCD then

g; :q“::l (20 Rhombus
aIp ( Parallelogram

S&tymo ABCD 6 gheres AB, BC, CD hbai DA o s Boiges SEm P, Q R, 88, st
S0 PQRS2.E :

M ::‘fi (0 sdsEsymo

(B) ogseso (4)  S5r088 SEBao

21,

How many times, the speed of the minutes hand js more than that of the hours hand ina clock ?

Z)é ﬁ&;:;:vﬁoés Aore ;w;yéﬁo ote Sney B0 4y O By S ? |
) 3 12 @ 8

P-T
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¥
irst term and the last term is 60. If the sum of the terms is 195, then

An arithmetic progression has 5 as jg ¢

the common difference is ;

0.8 woddt ) IO Do 5, D56 s, ) sore Ivdo Dend 195 B S0BLO |
11 2 o9 @) 7 @4 12

23.

e 7
A piece of work can be completed by A, B an g ¢ individually in 12, 8 and 6 hours respectively. All the three

worked for two hours.at which point of time C Jeft the work. The time (in minutes) taken by the other two
to complete the work is :

A, B, Cen DEDEM 2.8 IAI SRM® 12,8, 6 gopes® 78 SabKew. Koty DS Bokb fotes 5 T
o C S60 I, DRDI 2t Ko8 ¢ 50 G Toerds $GS BiHabo (AWXE) -
a 12 2 24 3) 62 w7 !

24.

: BT, VPO @SS Z;ﬁ,}aﬁébés DS ergf S
23%

s e ——

3 N
A person sold 1 th of his articles ata profit of 25% and the rest of his articles ata profitof 17%. The overall

percentage of his profitis:

3
2.8 558 08D 5 &) BHHOS T3 Som, 25% B e, DiE SWHoD 17% ogdolt

(1) 24% @) 22% @ 21%

In the figure given below, ABCD is a rectangle and CDE is a semicircle. If the length of the rectangle exceeds
its breadth by 7 units and its area is 98 sq.units, then the area (in square units) of the semicircular region
CDEis:

& (Bob H0o&® ABCD o8 BYSHEEay, CDE o8 egHdo. OEsedEsy &€ od ey Lol
7 Sy ©f¥orT dotwr, 98 SKLDH chrdy Jeso ¥ sol, edptd easedo CDE (@rod 3evog0
(56585 creys®) : cneB. -

E

D 1C

A —p
m 7° ¥ N 3 57 4 77

26.

In a class of 30 students, 10 members of Physics main have average of 72 marks, 5 members of Chemistry
main have average of 66 marks and 15 members of Mathematics main have average of 80 marks. The

average marks of the classis:
30 08 dghes Ko o SBKOL’, F8E TRO BeSore Ko 10508 Dghe SSs Setyen 72;

BPaDS BP0 (Beesore o 508 :)av,gddj)ué: Joe0 Srtinen 66; KBS Ko (BErsore Ko 15 08
Demgepe SO0 rdipen 80. SEKS® ol TGRS VUK Entipen /
1 69 @ 70 @) 74 4 75

27.

A car completes a journey in seven hours. It covered ha!f of the distance at 40 kmph and the remaining half
at 60 kmph speed. Then, the distance (in km) covered is :
28 S 2.8 [Haired) Db Kowdd JPEBRD. ©8 AnEs Brio KroeY ot 408. 2. Srod*Se, HADS

SKo oD Kot 608.2. 3085w e TR, OYID, [HairBodS Imdo Erdo (8.5, o) :
(1) 280 2 300 336 @ 420

P-T
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js doULI€ the loss jncy E

28 The profitcamed by selling anarticleor {1077 rred when the same article is sold for

ke 30% ;
3 |d to M3 profit ?
T850. At what price should the article be 5O 5% 2
28 S5H% T1000% B S TE o8 SV TH0E o 5 53308 vot 30y, @ S99

06 7
D 568 yd, 508 30% eego S0 ) 1170

1) 1100 2 1150 @ 1270

' e .
29 Ifthe side of a square increases by 21% then its a;i;gat:‘muejsed by :
28 S0 gheos® DBREe 21% 90U 8 050 267A :
1) 42% @ % 46% @ o

30. The distance between two stations A a'?d B 15 300 km. A person leaves the station A to
reach B. He starts at 10 AM by car by driving with z;apeed of45 kmph for the first two hours and remaining
distance is covered by driving fast and reaches destnation by 330 PM. The speed (in kmph) with which he
travelled from 12.00 Noon to 3.30 PMis:

Both Hag A B o S &ebo 300 8.2 A Dol aches 86 28 58 B drestons,
B565H0 10 Kobo, Hob 45 8.5, 3K08° IO Bod Hovew s (Busmdoms, SRy 200 e

B (Batrdon . 3309, o MR SOFTD. $.1200508 3. 330569 €8 BatBos

f;;%oué} 8.5 06 :
60 2) 65 @ .70 @ 75

31.  Alent¥ 5,000 to B for 2 years and ¥ 3,000 to C for 4 years on simple interest at the same rate of interest and
received ¥ 2,200 in all from both of them as interest. The rate of interest per annum is :

Ae3 568 BE 2 Sosdpren T5,000 057, C & 4 SoSHre 3,000 0ir 28 Bend Foeom 548 o)
2T, &IV SYS Ango $& 72,200 wowd SoSHI8 @ 5§ Bew :

(9/ 10% @ 8% B) 7% @ 6%

32.  Person A completes a work W, in 6 hours while person B completes another work W, in 6 hours. If
W, is only equal to two-thirds of W, then the number of hours required for A and B together to complete

both W, and W, is :
58 Aes 5D WD 6rowd Frodcom HE'HE B HEES0 W, 6 ot radadie. 59
W, 83 W, & Sirdlod Boks Hodh Sm(sh soll; A, Beo afte K08 eBod Sihose g Sanerds
::Eé Koke Sogy : ; ,

m 6 @ 7 {g)/ 5 @ 8

33.  Five persons A, B, C, Dand E start a joint venture. Their investments are as follows :

B and C invest equally; D invests half of C and double the investment of A; E invests twice that of B. IfE
receives X 24,00,000 as his share in the year-end profit, then the total profit (in rupees) :

DL Ssoe A, B, C, D 58650 E ey 2,8 Sl TmoR) (CofoT. 0 Digatben (BoB gore
aIHow :

'B, Cen Xairiiorr eyl E0; D26008 C S BKo DO A‘::egm& 8409, E 2tped B Digeds
Oollosen. BoSHROS &506" 22400000 e s i D008, Wwifo ergo (Errand) :

(# a0 @ 54,00,000 (3/:7,00,000 @ 7600000

34. Aright a.rlgled isosceles triangle hag hypotenuse of 12 cms. Its area (insq. cms)is:
2.8 ©0® JDEERS (BeHad) 880 1208, vy Save (5.%0.2D. odb):

m 12 @ 24 /a)}o 36 @ 72
___‘__-____-_‘___'_'—'—-—-__

8-D

P-T
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A& 1A gets S0% more salary than B, they

VB pets how much percentage less salary than A ?
RS0l A8 50N dito IS 3§, Agop's

A ‘w 1} l.ét"\" QOO D0 “%\_ "

3 pd ! -
(n 25 () .\x:‘- ) 50 )

360 By selling twoatens cach tor 09, merchant gets a protit ot 10% on one and a loss of 10% on the other,

The result to the merchant in this transaction is :
Lows of 1'% L:] l\“‘“' of 1%
J)  No loss and no gain (@) 2N loss

o dRQew afHEE Tooo § SN ol SPH0E wEOD 10N ergo oo, HB'Y @Op 10% Igo
SRR, B ovAVS' IFHIH SYY $0o -
(L) I R RSN )  1Neego
Q) I S, engar B (@) 2% SRe
37 Avillage whichiis recorded having population ,-_rm-\-th-ul' 5% annually has population 18,522 at the end of
the year 2013, The population of the village at the beginning, of 2011 was :
@8 JodFHodr, 5% aIege DS ISP ol (eood® 2013 Sodgorod wargr 18,522,
7 2011 (@000 T8 » (e wIvgr
(1) 14,000 @ 15400 A 15,800 @ 16,000

38, Three cubes whose sides are in the ratio 3: 4 : 5 were melted and a single cube, whose diagonal is 24 /3 cm
was made. Then, the sides of the original cubes are : (in cis)
3:4:5 WYJS® ghassiven Ko Sovd HVZvoH SON0Y, 2443 Do.db Ko Ko aE HSSum Saind
SaodIa. ePpd, Idh Q)N HEve Hudvw (Vo.d.os’)
(1 121620 @ 91215 (3) 135,180,225 ,(45 15, 20, 25

39.  ABisa line parallel to the line PQ. 1f Cand D are points on PQ such that the area of AABC is ‘a’ square
units, then the area (in sq. units) of AABD s :

K563y PQ S S3ross Bw AB. e PQR Dothihen C, D eo; AABC Berego ‘a’ SK56:9 chrdty ediytyol
SQID AABD Jerogo (S5 aomdge’) :

A a @

40.  AB=13m s the diameter of a circle. A manmoves from A in a straight line and meets the circumference of
the circleat C. If AC=5m, thenCB=
1 8m 2 10m A 12m @4 11m

&8 HISH Do TS AB =13 D, e85 A0S o $EE3pD BarBod §ES6E P Cod Dot
S6E 0. AC=5D,. eowd CB=
1M 8. @ 10 @ 1n2d @ 1.

=

@) @) %

W=

41, T78.400 was divided among three persons A, B, Cinthe ratios A: B = 5:4and B: C = 6:11. Then, the share
of Cis (in rupees) :
278,400 Soopht> Jgen A, B, Coth, D> A:B = 5:4500ak B:C = 6:1106° S0 ndSh. @upi,
C8 3 So (Erdraved®) :
1) 31,200 @) 34,000 A 35200 @ 36,200

P-T 9-D
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2 + . N =12, thenavalueof xis:
x-1 x+1

B gD =12@m3x&n5&&§§}wéi

x - x+1
3,/1' 6 @ 7__#_*#_—(3) 8 @ 5

If

43,

If each side of a square is decreased by 25% then the 1atio of the area of the resulting square to the area of the
given square is :
2.8 SEBHo B ghao 25% SAR, G DA iéé?;\@a‘ug&)& 58 SHYS Fog8 fo IR

Lets be 162% of 24 t be 331% of 9 and u be 20% 0f 25. If 5, t and u are the sides of a triangle, the angle
5 3 ’ 3 '
opposite to the side of length uis:

24 & 163%:0 s ©, 9&° 331%3 e, 256 20%D u® W08, s, t, ued ghere ﬂ*cﬁé}mm e 2.8
3 ! 3

(Bgheost, DD uKe ghad s Bo
1 30° 2 45 (3 60° /u/90°

Length of a rectangle is five more than twice its breadth. If its areais 273 sq.cm., then the area (in sq.cms) of
the circle, whose radius is equal to the breadth of the rectangle, is :

28 BEsHRo i R ey BEoPE) wont LS. T Jerego 273 3.20.8. wowd, &
8 (5 Bey)d agRrgorr Ko HE JTege (5.%0.80.06%) :
346.5 @ 12325 @) 140 @ 210

The captain of a cricket team of 11 members is 26 years old and the wicket keeper is 3 years older than

captain. If the average age of remaining 9 members is one year less than the average age of the whole team
then average age of the whole team is :

(1) 22years 23 years (3) 25years (4) 24 years

11 008 Heb5e0s) ¥ BES @D TRS Sabdy 26 Dey, ) I8 8§36 Babiy I Sakdy) Ko
3 BoBdyoren JEND. Do £)08H FT°HB HALRY) Ko LADS 95008 ¥ghye JTH0 SaHy) e8 JoddyKo
B ©ons & I B0 JoH0 HAH) :

(1) 22R058yoen (2 23Jo58\oren (3) 25 Roddoren (4) 24 J03&oeen

47.

A person A starts a business with an investment of ¥ 1,00,000. After two months B joins with him withan-
investment of ¥1,20,000. After eight months C joins them with some investment. If the profit at the end of
the year is shared equally, then the investment (in rupees) made by Cis:

28 58 A, T1,00,000 T::é.:gm&é‘ a8 TR (EoHoBd. Do Jov d$Hard T 1,20,000 1:&32:&8‘ B
2850, WG Joo SOTE 508 Diypds* C o8 BdBORN. VoSHToSAY IS ovgr O
Ravorr HoHE°oB, C 2eReldr RS Ando (Krdrond?) :

(1)  5,00,000 2)  4,00,000 3y 4,50,000 (4)  3,00,000

48.

The number of digits in the smallest positive integer which is composed entirely of fives that is divisible by

99is:
,a,;b)\sﬂ S DA, 9 3 erhoded §3 gromol vomgd® BB TS woBe Soy :
9 @ 12 @ 15 @) 18

10-D
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49.  Aroomis 5.2 meters in length and 2.0 meters in width. The least number of square tiles required to exactly
cover its areais :
&8 1D Qo) BE5) 5.2 Dot H080tn oo 3kery 2068, & KB pYSore SHEES Sotos® SoTrecl
SPHORS oo Joyy :
1 96 (20 85 @) 75 }/ 65 ¢
50. If x = 03 thenx?=
1 =03 sodS® 2=
1) 03 @ 03 @\ o001 @ 01
S51., “Aand Bcando a piece of work independent]y in 12 days and 16 days respectively. They worked together
for 4 days and B left the work. How many more days A worked to finish the work ?
&8 B A, BILIE S 12 Seven, 16 Sfared® 10 IdbKed. 0L SO 4 Beren 50 IS
S0 BIY S0 Igeth. DADS SN o8 Faherd8 A S awose I Beven 5808 ?
1 3 2 4 5 4 6
52.  Suitable term in the following sequence is : '
Bod evdEsnos® H¥8 ewans HEo :
AETIMOQ
ay ~ NBR 0 () MRS @) SuUY @) SUW
LS U] Ny (LYY 931 A -
53.  Inacodelanguage ARISE is written as CUMXK. Then the code of WORLD in that language is :
28 §°E grid® ARISE D CUMXK e 700, oJpid @ g36® WORLD Gws) §°5
(1)  YQPJF /g YRVQJ (3)  YSPIF (4) YRPJF
1
54. The rate of income tax is reduced to 12-2—% from 16%. If a person has taxable income of
¥2,40,000 then the tax benefit (in rupees)s :
soras sy Bt 16% oD 12348 SA0TE. .8 88 Ty DPos & wordo T 240,000 wavd
S56° wrr(Erdrondf) |
(1) 4,800 @ 6400 (3) 7,200 4 8400
55. A circle of 3 cms radius lies inside and touches all the four sides of a square. The area
(insq. cms) of the square is:
3 %0.. aggo Mo ad HEO o SSHGFost se, oD ©d) aoeres 3) 985> @od.
® SHH Jeego (5. %0.D.06%) !
(1 9w @ 9 G 18 ,(lf 20
56. By selling two articles each at T 480, a merchant gets 20% profit on one and foses 20% on the other. In the
total action the merchant gets: . 70 R g ':z-'
4% loss 2 no los§ no gain \
@) 5% loss W S5 -y
wasgdzma om Both é@@o‘é et :)éga:}g &80 Y 20% 0‘50. Eod‘ U‘-‘»)}'g 20% R‘JQO 5\%06. &
Wio orardDE® W SYDHIB SNIO -
1 4% Sgo @ Sgs» Bb, evgiin Stk
G " @) 5% evgio
) 5% Sgo
P-T 11 . D
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Six people namely A, B, C, D, Eand F want to sit aﬂl““"’ a heka_gonal table in the following manner.
A and B want to sit next to each other. Eand F want tostt OPPOSItO to B and A respectively. The number of
different ways in which they cansit such that abO\"-;':ond'tlUns are satisfied is :

A,B,C, D, E 50805 F o3 st Sghen 8 Bros SE8E° g REQerses oy Sty KPS SO

A SB35 Beo 2.58 S LEE SRENISTO. Eéﬁiﬁ” Fen $tre B 8 A o b ErtN$58:0,
& DHETOLIOEON Tt KRB HORR DETO VOB

® 1 2 @ 3 @ 4

58.

A person starts walking from a point A towards South for 100 meters and turns left to walk 40 meters
East. Then, he again turned left to walk 60 meters towards North and turned left to walk 70 meters towards
West to reach the point B. Then, the distance between the points A and B is (in meters) :

28 358 Dot A ol Eimo B $EE Fntser DG 100 exth $ETE &% s JHH BON 40 ooty
ERGp DS SETE.  DBerED EHDOS 800 60l agto 39 Baes HE A JHH 80N
70 Sty DEHE Behiiody Dotiody B Beotoayedh. APt Dotohen A, Bo oy &80 (otrgs®) :

1) 90 @ 70 @) 60 (@50

59.

If TRIANGLE is coded as USJBOHMEF then the word coded as TRVBSFis: = g -
TRIANGLE 2 USJBOHMF re §° % TRVBSF e §°6 Sahofs o :
(1) CIRCLE 427 SQUARE (3) - RADIUS (4) ROBOT

The area (in square cms) of an equilateral triangle of side 4 cms is :
4%0.8. gheso Ko Seridm (Beba Do (B8 o..08%) :

o 3 o 43 - @) 35 @ 3

61.

1f 8% of a property is ¥ 1.76 lakhs, then 25% of that property (in lakhs of rupees) s o
25 6B’ 8% Dend T1.76 05w ©owd © sl 25% Devd (oFe Erdrandt) :

1 11 2 9 @) 75 _ @)/ 55

Note : In questions 62 to 64 pick the odd thing out.

¥

BSS : 62 5008 64 S8 Ko [BHS® $0 DeVweR) HBoSod.

62.°'(1)" 0.000001 ) 0.0001 @ 0.00001 @ 0.01
63. (1) POND @) LAKE @y~ BRIDGE 4) TANK

1) %ot Q) 5% (@) $083 @) Y
6. (i O0Q @ KL @) HI 4 FG
65. The next term in the following :

Bod TBE° SHed J8o :
3X5,5U7,7R11,11013,

P 1dL17 ! "2 138M17 3 13N17 4 13K17
66. Fill in the gap below with suitable number.
@O&‘wé‘% Eeleuny aoa;g% FrdoSol.
- 1.1 5 11
% 5hnt 26" T "1
i 6 8 2
M 50 @ 17 ) 65 @ 82

[ I 12-D
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67.  The suitable term in the sequence given below is :

Bod aR)d mmgiaolf‘ %0 wow Kg .

OFLEG], FHK, GLL-_ Hjm

(1) HM @ HN /g{ GIL 4 GM

i

68.  If two cubes each of side 12 cms are joined face to face to form a cuboid then the surface area (in sq. cms) of

the cuboid is :

120.2.0 ghaso Ko Bod Horre Sogresss S88 DO B 59 as88e Jerogo (3305 o6

() 1080 ¥ 1440 (3) 1460 (4) 1600
69.  The rational number with recurring decimal representation 0.1 24 is:

4 41 43 47

W B 30 AT @ 5
70.  The total number of squares in the following figure is :

& BIOHD &%) HBE*D Indo SHTRre Koy |

1 25 @ 26 & 50 4 55
71. IfGALAXY is coded as DXIXUV then the code word for STAR is :

& Y e

G;L{A';(Y&) DXIXUY e S5€ Schedd odpth STAR 8 6% $do :

1) PQXN @ PQXM (3 PQOX &~ Poxo
72.  Fill in the following gap with suitable letter.

$OGES wEBes® 8od grbd Froosol

- w S

ADIP, i ,

®n X A2 Y @ U @ z
73.  Forreal numbersaand b, if asb=a2+b?—3ab then {1+(-1)}+ {J_ * ‘ﬁ} =

158 Somgen a, b o asb=a?+ b2 = 3aboasd wycd {1+(-1)}+{\2+2}=

M 23 @ 35 ® 83 A 59
P-T 13-D 237200
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Note: Inthe questions numbered 74 to 76, observe that each que:; hon(Q) " ff’llowcd by two statements S1 an-d Sz-
You have to decide whether these statements answer the questiOn unambiguously. Mark your answer as:

(1) if(S)) alone answers (Q)

() if(S,) alone answers (Q) '
(8( if (83 and (S,) together answer the question (Q), butneither of these alone can answer

(4)  if both (S;) and (S,) are not sufficient to answer the question (Q)

WSS ¢ 74 S0l 76 6% agys B’ ©6 BHQ) F LM Jos @SSTes (Sy), (S) @ ISR
HSQodel. &% ngoéﬁuhoéa&aém, ad L:.ﬁ;’;da"e:éﬁ@wnoﬂ ﬁoagd Shooe JSHowosd PHH
aaa"m:)dab .

(8)) EM(S (Q) 8 avrendityigd & Siomgriso (1) O 5

(S,) Sr(&3 (Q) 8 asarenSDB & Bagriso (2) o ;

(S1): (S,) & Botkr ©SKEP> KErGrPTYRKY, wotH6® D 2.8 asradDy SENE D Sdrerso (3) ed;

(Q) 8 SBErrSITRE (S,), (S,) £ Dotie FOREFS b Biirgro (4) e rHQoS0d

74. Q Is A a friend of C?
S) - A is a friend of B.
Sy Bis a friend of C. ‘.ﬂ
@ : Caadam? L.
S) B& ARretd.
S, C8 Byir.
75 Q Which number is alloted to the letter ‘'S’ ?
S) The 26 letters in the English alphabet are numbered 1 to 26 in the order they occur.
Sy - Thevowels A, E, I, O, U are numbered as 1, 2, 3, 4, 5 respectively. U)
Q ®g80 'S’ 8 BeranodS Sogy 26 ?
S) wolf eEESro®d 26 BETOH ©D 6oz EH06" 150D 26 H5H Jomgen SercnoT,
Sy - oo A E, 1,0, U St 1,2, 3, 4, 5 Sogged Seranometh.
76. (Q What is the area of the circle ?
S) The circle touches the four sides of a square of side 5 units.
S) The circle lies inside a square of side 5 units.
Q §& deregod ?
S;) : o, 5TV ghesoniv 28 SHYKEH areni® gherosr 9))8508.
(S) :  Hdo, 5crdey ghaore ¥ SH5Ho SiHe aod.

77.  Suitable words that fill the gaps below are :
School: _______:Students:: Hospital : — _____ :Patients

(1)  Teacher, Medicines )  Class room, Medicines
(3 Teacher, Doctor (4)  Class room, Doctor
8ob Do rood $BLans Jorey :

oo IR0 eD@: . ghoe

(1] SIS, Hoties @ 3558 KB, Sroten
@) A>T, i @) S6r6 Ko, Do

ﬁé" 14-D
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Which of the following diagrams sujts well to represent days, weeks and years ?
808 e’ D6 Sleren, e TINY ﬁog,%mum JSrdotheth J0me S0l 7

1) @D @ © # @

e ——

Fill in the gap below with suitable worq_
Fruit : Reap : : Flower :
1) Grow )

Fragrance (3) Bloom 6‘)/ Fall
Bob 5B VOGS HK08® FrBoSoA,

POIW : HoLko : : HA)o

(1) Brwo 2)  Herdosto (@) Ddodwo @4 oo

Find the value of x.
x DenddH §:6)§530&.

25 100

x

(1 200 2 210 225 @ 230
The value of xis :
x DD : ‘

5 4] 3] e
[e]8]ox] [s|7[8]e4] [4]6]7]18]

7 6 | 5]
(1 136 (2 138 (3) 340 @ 140

If the following square is rotated through an angle 90° about O in the anticlockwise direction and then
reflected through a line parallel to AB, then the resulting square appears as follows :

BoB S50 Orbote 90° wisisi 536° o b 6P ABE Sirostorr &) e By roc Soxsgso
93, 5T SHYHo Bod Dorr BB
e

Y
D C
2 P
A B 0
B = A P A
H( @ ® @

A D B C G C D

15-D
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83.  Theordered pair (x,y) =
Léé) MO (I, y) —
10 (23 @ 43 @3 @9 4,2)
84. Consider the following triangular prism ABCD. If three faces ADB, ABC, ACD are labelled as 3B, 1v, 3
respectively, then a suitable label for the fourth face BCDis:
8o @eherss Sé380 ABCD D Sl 0 S Swgren ADB, ABC, ACD 0 Sire 3B, 1V, 3
o8 0D, Tod Sop@d BCDE S0 o8 &mdS
D
1V,
B
1 4G 4Y (3 40 @ 4
Note: In a code each vowel of English Alphabet is coded to the next vowel cyclically and each consonast

is caded to the next third consonant cyclically. Thatis, A—E, E—], ..., U—A and B>F, G=K, S—M,-_'
ceey X3B, Y-9C, Z5D. The reverse process is used for decoding. Using this code and :

processes, answer questions 85 to 89. !
BeSS 2.8 8566° woyg @ﬁé&‘mmé‘ (B8 e 08 S SEcdhore S5E 3, (58 Srepsr oo Sobd
3‘35‘3 Sl Srep SEcvore 88 Schol. w@odl, AE,Eo, ..., U>A; $50d5n BF, G—)K,S—»W.i
...... X—=B, Y-C, Z-D. &9 86%%8 $5¢8e® 4-8%8oR Sooodod. & §'@oR, &-5%d
égmwhoa 855008 89 HEH Ko (HHoH TP, !
85. ThecodewordforBLOCKis: F PV
BLOCK & &°8 &S0 : Nz B
(1) FPIGN (2) FPONG (3) FPEGN /(tf FPUGN
86. Thecode word for ARMY is: eV '
ARMY 8 &€ $tfo :
(1) VQCE (2 QCEV }33 EVQC @ VECQ .
87. The word coded as HIPLOis: g/g :
HIPLO e 8°8 Schods $iso : y |
(1) KOREA 2" DELHI () PATNA (4) KOCHI
B
88. Thecode word for JNTUH is:
& 5% S0 :
) MRXAL @ MRXEL @) PIXEL @ TAXES
e
N !
P-T 16-D }
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89. Thewordcodedas VIH is:
VIH re %8 Scoms $do -
(1) ROD RED (3) SET (4 SUN
. - ___---_‘_‘--\-—_
90. Ifthe following equilateral triangle js -
p yar reflected about the angular bisector of C and then rotated through an
?;‘ cl::v}sz'oc about its centroid in the anti.:]:ckwise directigll:, then the resulting triangle will appear as
808 Hers @lﬁ:@&hcx}g 8 KBuwors B Home SorSESo SoBod e T Sograro Ho
©53850¥6° 120° 8508° $0ig55omo B3 53) Bghmo (80b forr $okwod
A ;
B C '
C A A B
» A‘” A‘” A“’/A
B A C B B C C A
91. A meaningful arrangement of the following is :
(@) rational numbers (b) integers
(6 realnumbers (d) naturalnumbers
(Bod T8 2.8 e850EDS elds
(@) @55 Soggen () Gposen
(© o35 Soggen (d) SSea Joggen
Choose the correct answe:é;fr/b@:ﬁ aTrad oD Dabod :
® @ (). ), (d) (d), (b), (). (c) @) (. (®)() () @ @) ()
92. If R (n € N) is a rectangle of length 1, =%, breadth b“=n11 , then the sum of areas of
Ry, Ry Rygg S :
1 « i, Ea -
DED 1, =%, 3oy by v ™ Ko 5%&5&6@0 R (neN)®and R,, R;‘;..-., R0 ® S&vere 3wdo :
\
% 101 100 PR 5’<
M o0 @ 700 ® 0 99 7
93.  If the following square is reflected horizontally and then vertically, the resulting figure is :
(Bob SHERY) 4B Simostore SovSERo b 6 auiupor JoBgse Sabm Hi%) SHEEe
PoT 17-D i
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. ; 1o fOTm a rect il with base
1the follow ing squares of sides each 2 cm are used angular parallelopsy ABCy
L E, then its volume (inem ') is

@0 como 2 0. 8. e Ko B0 Sdt ol ob %-“'D'ﬁ SOP ARC DI | wortore, 8% Saors o,
DS H0EPmo (o.M Yedt) :

. o

Mm 8 @ 16 A @ o4

The following table gives heat index h = h (T, H) in terms of temperature T" Fand humidity H%. Observe the
table and answer the questions 95 and 96.

oRrE T°F, 3% H% o6 agovdo h=h (T, H) D (od 3GE FrDiod. IQED ABI00 95, % Fdob
wrmw ol

H ;
50 60 70 BO 90

90 96 100 106 112 119

94 104 111 118 127 137

98 114 123 133 144 157

100 119 124 141 154 168

95.  When the temperature is 98°F, the average rate of change in humidity is :

AR/AS 98°F rm APYPED, B 6° Jiew EntigyBen :

(mn 14 @ 150 p{ 1.075 @ 175
96, Whenhunddityisaﬂi.ﬁuewengeuteofchnngeinlemperamb:

8 80% m QYYD SRPNSS® Srew SrcipBen -

(my 41 2 42 .4{) 43 4 44
P-T 18-D
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Note: A suwey.conducted ©On 100 students with regard to their sports activity revealed the following
information: l;wry student wh, particip-‘lled in the survey plays atleast one of the three games
Football (F), Cricket (C) and VOlleybaII (V); 20 play only F; 30 play only C; 25 play only V while5
play all the th{ee. Moreover, 8 play both Fand V but not C. The number of students who play both
Fand Conly is same as the Number of students who play both C and V only.
Using this information Answer the questions from 97 to 100.

ArSS: Lo Jonofod 100 Sod aﬂ‘stgu}_a @B g,gs 808 SErroey ﬁ.);go am0b : 5356‘ >FEJ
(X8 3)(:"3% Srlode® Ko Nt 2% wid slad. © Hlerd (F), (838 (C) SHbokn >berd (V).
20 %08 F D Sr@d 6toes; 30 $i08 0 Srdh etoa; 25 508 V 2 SrEd emed, s
5t Srdodd ebard, ®ods, C ) oo Fbdkn Vol etath 8508, F, Ces Bolo8d
SrEd o Qg [ogy 5 C, V en Bolodd Erdd el oo Sopsd S&mS0.
& DoY) aDBPACD (80 97 Kol 100 S8 Ko HHOD srwe asiel.

97.  The number of students who play atleast two of the three games is :
St wed 800 Bo8oBR 2 e Sogy :
Q

1 22 @ 23 @ 24 @ 25
98. The number of students who play Cis:

CR &3 drmgde Sowy :

1) 45 (2{ 46 @) 47 4) 48

99. Inall how many students play V ?
Ao DS dod Lood z)a??eo VI edHed ?
) 44

1 42 @) 46 @ 40

100. The number of students who play F and C butnot Vis:
F, Cod ethdr VI eid (3);4563& dogy
)

(1my 3 4 B 5 @ 6
101. Match the following :
List-I List-1I .
(a) Mycology (i)  study of pollen grains
(b)  Palynology = (i) study of treatment of tumours
()  Oncology - (iii)  study of fossils of animals and plants
(d) Paleontology (iv) study of fungi
238580 :
o -1 o -1
@) Dsod () Hoei Sewvide wgganio
b Doved (i) S%K6 8 VowohodIB
(0 wosed (i) Berere 180D egsadso
d) Hodirotred (iv) B0olgre 180D ergahivo

The comect malch i/ o8 8O@8 5991 i @ 0@0-0)
1 - (i), (b) - (i), (<) - (i), (d) - (V) ReeLile A=A, (€)= 1V (0) -
O O @ @ @-0,0)-6,0-(v), )G

oy 19-D
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Match the following :

List-1 List - II

(Plant) (Edible Part)
(@)  Potato (i)  Swollen thalamus
(b)  Carrot (i) Vegetativebud
()  Apple (ili) Modified root
(d)  Cabbage (iv) Modified stem
e 800 QD wSHKSHE

efar - | edoe -1

(S5 (B3RS grrio)
@@ =orreesos () afd HaHIIE
b) oS (i) oHad I
(@ o6 (i) GrIrosbo J083 IB
@ =3 (v) Brdrodbo 308 SPoko

The correct match is/=8 $0&S £°80:) :
41‘3/ (@) - (iv), (b) - (iii), (c) - (i), (d) - (ii) @ (a)- (i), (b)- (i), () - (i). (d) - (iv)
G (@-(), (d)- (). (c)- (iv), (d) - (iii) @ (a)- (@), (b)-(iv), (c)- (i), (d) - (i)

103.

Aqua regia also known as royal water or king’s water which can dissolve noble metals gold and plati
is a mixture of :

(a) Hydrochloric acid (b)  Nitric acid
Hydro bromic acid (d)  Sulphuric acid
The correct answer is :
(1) (a) (b)and(d) (@ (@and(b) (3) () (c)and(d) 4 (). (b)and(c)

Loy Hddn PBIDODH E8AosKe ahd wb oo 8off) wbr Dendeod wsx 34dd
{FSoo :

@ Es08 expim B 368 ek
© EE° DS sipsn @ & B ot
$OGS SETERRHI : :
(1) (@) ()30an(d) () (@DOAB) @) (a)()HBaAW() () (a), (b) OO |
104. Household refrigerators work on the principle : - -
(1) , Peltier effect @ i
50LE°D BBATLE SIS Aot Ko im0 -
(1) Hgano 8080 2 538 3980 |
@) &S eSS H085 B woa |
— e 1
|
P-T 2-D |
|
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105. Heparin is an anticoagulant found in blgg and it prevents blood clotting within blood vessels and it is
preduced mainly from

)  Kidney (@) Pancreas (3}/ Liver (4)  Spleen
T30S $Eos” ot &8 (HBR)oES Sorgiso. 20 852 BET oS’ LSS Hooe aotbé® B eEst.
a8 Soggore & $ol SE[0K |
1) HHso @ Soonw (B) sdabo @) S
106. Identify the correct statement :

)  Theresistance of a metallic conductor depends on the potential difference across the conductor.
(2)  The resistance of a metallic conductor depends upon the direction of the current in the conductor.
(3)  Theresistance of a metallic conductor depends on the length of the conductor.

(4)  Theresistance of a metallic conductor is independent of the temperature of the conductor.

Bod TeBS® OGS T5asd ool

(1) o8 EFH FES ) Wkn e oty HF) PLYHS oo P BERESE Hool.

@ o8 FFH THES Cof) VG st (580D DS D 6F P GFRESE Hokod.
() o8 & LI Tof) A o) UG SEESE Hotnod.

@) 28 SFrH LS k) E%Ew PSP STBHE HoL.

107. Match the following:

List-1 List-1I
(@ Glucose (i)  Polysaccharide with Nitrogen-containing carbohydrates
(b) Starch (i)  Monosaccharides
(c) Maltose (iii) Polysaccharides
(d) Chittin (iv) Disaccharides
23808003 ¢
=oAL L | Do - 11
(@) rxs*E () BS*=S 50n ad) FOFLDE =TFEH)
b *H (i) SSFEE)
© &R (iii) ~OIEDE)
@ 288 () B>EBE)

The correct match is/ 26 JOGS &80 :
(@)- (@), (0)- (i), (- (V) (@)-0) @ (@)-(), (b)- i), () - i), (d)- )
B)  (a)-(ii), (b) - (ii), (c) - (iv), (d) - (D) @ (@) (i), (b)- (v), (c) - (iii), (d) - (i)
108. Identify the correct statements : T
(a) Late blight of Potato disease was the causative factor for the ‘Great Irish Famine’ of 19t century.
(b)  Brownspot disease of rice was responsible for Bengal famine of 1940's.
(©  Theinserted foreign gene in Bt cotton offer resistance to bacterial diseases.
(d) Crown gallis a viral disease.
SODS agage oSl
(@ 195 dovgy ‘B 0] 85D’ © SP569 D) DOMPERSHOHK S B B 5 0.
(b) 56 Ao Borb Soigy 06, 1940 5F80E° S5 Borrs Kt seeo.
(© BB SIEDHS edgudyd (foreign gene) erfBchS rgrheol B SODR0B.
d) ESrd oo o8 38T 6.
The correct statements are /380w TFZATED
) @ @ 0.0 £ (@) @ .

P-T 21-D
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109.  Which is correct in the following ?

Inan electric circuit -

(1) Ammeter in parallel and Voltmeter in series aré connected.

(2)  Ammeter in series and Voltmeter in parallel aré connected.

3)  Ammeter and Voltmeter both are connected in series when the voltage is small.

H{ Ammeter and Voltmeter both are connected in parallel when the voltage is very large

& Bod VS DB BoEHEe ?

&8 DSogtSsoahEne® -

(1) oyt Sirostorr, Sayibib FH6%DH 50D Jotron,

@ odpps @FE6%, S SErosiord $0b Joerav.

@) 'Y ST aHpe edynt, Sy Sotr F86° 50D Hotro.

(@) P8 crer S &P ey, Sexdbot Bokr Sirodtorr S0 Hoerav.
110. Identify the correct statements from the following :

(@) CFCs are responsible for depletion of Ozone layer.~

(b)  Water vapour, methane, COZ, CFCs, nitrous oxide are'green house gases.v~

(c)  The BOD value of pure water is 100 ppm.

8o TES® JOFEE ST HOOSH.

(@) &&°S D8 SKrvtes CFCen s

(b) DB DB, MBS, CO, CFCen, IR sB)E ev (AS F°H ciwJe.

€ &G 5® BOD dend 100 ppm.

The correct statements are/ & SSSaro6® DD [OGID ?

1 @) @ @) 3 (). b)() @ (®)()
111. Which one of the following combinations are appropriate ?

(a)  Barley, rice, oats, jowar

(b)  Flax seeds, almonds, cashewnuts, walnuts

()  Flaxseeds, oats, corn, ragi

(d)  Oats, corn, ragi, jowar

) @md® @ GEmdd@ @ @O @  (Qand()

& (BoBTIE" DB VDS HalySo ?

(a) erf, 38, LtSen, €)

(b) ®ddew (Flax), erdo, AAISp, E:565en

() e (Flax), &5, IoHES), oon

(d) L&, IHER), oA, &)

(1) (a)0a(b) @ OB (@) (@) bH)ZOAD() @) (o) SBw(d)
P-T 2-D
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112, Match the following :

List-1 List-11
(a) Aspilrilfv . (i) Cyclotrimethylene trinitramine
(b)  Muriatic acid (i) Acetyl salicylic acid
(c)  Ibuprofen (i) Hyd;-ochloric acid
(d RDX (iv) Aryl methyl acetic acid
33 DHBHRW ¢

eloe -1 erdoe- 11
(@) ©NOS ) 80308 (BILDS
L)  Ss0aseBE sspo ()  ARBS FPSHOE o
© ser@DS (i) 3rEsPO8 wio
(d) RDX (iv)  «BS DFS IVAE wfpo

The correct match is/ a8 $0&S &%80%) :

(1) (@)-(iv), (b) - (i), (c) - (ii), (d) - (i) 2 (a)-(iv), (b)- (i), (c) - (iii), (d) - (i)
‘(3)’ () - (i), (b) - (iii), (c) - (iv), (d) - (i) @) (a)- (i), (b)- (i), (¢) - (i) (d) - (iv)

113.  Which of the following are energy giving molecules ?
(¥  Carbohydrate, Protein and Lipid
(2)  Carbohydrate, Lipid and Vitamin
(3) Carbohydrate, Protein and Vitamin
(4)  Protein, Lipid and Vitamin
& BoBarAE° €80 5D) LenHOH HBoSS
(1) sEYREES, DPES Sobckn OBE
2 sBNTEES, OBE S8 DS
(B) sEYTES, (DB H0cin DS
) (S, OBE HBAD DOWS

114. Match the following :
List-1 List-1I
(@)  Chernobyl disaster (i)  Peroxyacetylnitrate
Chlorofluoro carbons

(b)  Bhopal tragedy (ii)
() Ozonehole (iii) Radioactive substances
(d)  Photochemical smog iv) MethylIsocyanate

& (800 a0 2N !

e -1 adoe-11
(@ 36HBS D58 () DrYedDS JBS
b) &S o M) 5P sgSen
© &&°S Sogo (i) OEBrErEE dorgren

()  s0BEFaDS KA (iv) S oRFRIS

The correct match is/=f 6@ &°80 :

(™ (@)-(iv), (b) - (iii), (c) - (i), (d) - (i1) (2)/ (a) - (iii), (b) - (iv), (c) - (i), (d) - (i)
@) (@)- (i), (b)- (i), (c) - (iv), (d) - (iid) @) (a)-(id), (b)- (iv), (c) - (i), (d) - (iii)

P-T 23-D
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115.  Read the following statements : i
(@)  The biochemical events in the ‘Dark Reaction’ of Photosynthesis occurs in the absence of ight.
(b) The loss of water from plants in vapour formis referred to as 'transpirationr.

(€  Consumption of transgenic ‘Golden Rice’ prevents development of blindness-
The correct statement/sis/are:

(1) (a)iscorrect but (b) and (c) are wrong

(2)  (a)and (c)are correct but (b) is wrong
(b) and (c) are correct but (a) is wrong

(4)  All(a), (b), (c) are correct

& 8ob (B5Irer egiabto Saod :

(@) S8maly SoFrK(EHetd AANo8 SC W0ED ASEIANS Fodw 52088 3HE
aborbacow.

() ©dBErHoE® Inge ol A FehHe TR0’ sotrt.

(€ eRgHBIBE FPES BY & 8o Sg Loy VB)HL ITBoBwH0B.
& (HSSToE® DB/DD VOISR :

(1)  (a) NSOGB s°R (b) SO (c) SOTHHD S°H

(2) (a)Bc5w () KOTHD =*Q (b) KBTI S0t

()  (b) B (c) HBFHD 5°0 (a) SODNG 5o

@) (a), (b), (c) ® JB@BD

116. Examine the following statements about ‘Indian Science Congress' :
(a)  The 104" session of the Indian Science Congress was held at Manipur University.

(b)  The theme of the Indian Science Congress, 2018 was ‘Reaching the Unreached Through Science and
Technology’.

() Indian Science Congress, 2018 was held during March 16-20, 2018.
Choose the correct answer :

(1)  (a)and (b)only (@ (b)and(c)only

@/ (a)and (c)only 4 (a) (b)and(c)

‘P58 S) SPofiT & H00B00S 808 eores $88D0S08

(@ &8 8) Sofd @) 1043 LS LS DEDmsabos® adRod.

b) ‘®oSSEH I Faed / (Fosro 2N) S8aw Bsvpd oxoe BBL0’ &3 355630 (§o)s® gr5S
28) S°o@R, 2018 SErJaren asbrraw,

© 68 DR s*o@R, 2018 DKS $r8) 16-20, 2018 srwos® wOAOB.
$OFod aareid JodE Sabod :

(1)  (a) SO (b) SosD @ (b0 (c) SrED
@) (a) @O (c) D @  (a), (b) B0 ()
P-T ¥ 24-D
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Institution/ Council / Commissiop
(@) Director General of Indian Council of World Affairs

(b)  Chairman-cum-Managing Director of NALCO
()  Chairman of Payments Counci] of India

(d)  Chairman of National Commission for the Protection

of Child Rights

208 A adi5So4

B0/ TS/ SWES

(@) =08cHS TS &b 358 o8 % TogE =SS

b) 6% BHS-ESH-IRoR gogs

© wBo) TYS 6f nodarH 3GS
d ISSS DS $60 @ BES oF 38 36 © 35S

Officer Name
(i)  Vishwas Patel
(i) Tapan Kumar Chand
(i) T.C.A.Raghavan
(iv) ShrimatPandey

(v)  Stuti Narain Kacker

®HsD D
() Q=R 585
(ii) S58 HEeE S06
(iii) &.2.. TS
(iv) &8 oot
v) 8 ToecHE 856

Choose the correct pairs/answers/ S8GS adeH / aaranid JodE Bakod :
@ @-v), (b)-(i), (c)-(iv), (d)-(iii)
@ (a) (i), (b)-(i), (c)-(ii), (d)-(v)

(1) (@), b)), -6, (V)
@ (@Hiv), (b)), (-G, ()G

118.

Match the following :

Central Government Scheme
(a) National Rurban Mission
() Pradhan Mantri Fasal Bima Yojana

() Pradhan Mantri Jeevan Jyothi Bima Yojana
(d Pradhan Mantri Kaushal Vikas Yojana

806 A asHESol
SollS (Bepdy SEo
@ J8IS BGS WA
b) (B Hoo® HIS Dse Boeasd
© oS Do 4585 &8 Hir Ered
d)  (Sors Soo® TRS DR Torasd

®
(i)
(i)
)

(1)

(i)
(iid)
(v)

Launched in month, year
April 2016

February 2016

July 2015

May 2015

wododndS Br.'a,l 50u
DS 2016

d@B6 2016

e8 2015

3 2015

Choose the correct answer// pairs/ S0gn% esae0iD / 280 Jods Fabod :

@ @ -(), (b)- (i), (c) - (iv), (d) - (i)
(&) ¥ (ﬁ)r (b) 7 (i-i): (C) - (iv)! (d) = (l)

(@)~ (iv), (b)- (i), (c) - (i), (d) - (i)
(@) - (i), (b) - (1), (c) - (i), (d) - (i)

P-T
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119.  Examine the following statements about Para-Athletics §ames ;
(@  Deepa Malik won a gold medal in the F 53/54 CA1€80Ty Javelin event at the World Para -Athletics
Grand Pix held in Dubai in 2018.
(b)  With this win, Deepa Malik became the world number one ranker in the F - 53 Javelin category.
(€) 2018 Asian Para-Games are scheduled to be held in India in October 2018.
Choose the correct answer :
(D (b)and (c) only () (@)and (c)only
(a) only @4) (b)only
Po-0BBE) 1K) %8005 80b womed 30800508 :
(2) 2018 &° therond® wbAS (W0 ov-0phS) (Tof BE) ewd® F53/5480N0 3OO &30656°
B S0 Ky HESY) FH0D08.
b) & DecHo8® B SeOE F- 530S Deriiod® B50s Sowb 5§ (1) oo FHoDoB.
© 2018 6daHS For-Af) 6eb 2018 6° FESEISE atibercy.
DOGS a3TreN JoDE IaHod :
(1) (b) 0B (c) SrEad 2) (a) DB (c) Sresad
@) (a)dmSD @  (b)SeSDH
120.

The Supreme Court on June 5, 2018 allowed the Indian Government to implement the reservation in

promotion policy of SC/ST employees in accordance with the law. What is not considered in the judgement
of the Supreme Court from the following :

(@)  The policy must be in accordance with law.
()  Thejudgement says that the state should make out a case based on quantifiable data.

(c)  Thereservation should not be looked into based on the data like backwardness and overall efficiency.
(d) Comply with Article 16 of Constitution of India.
Choose the correct answer :

(1) (@) (b),(c)only ‘(a( (b), (), (d) only

() (g)only @  (b).(d)only

SL05% @ordRONT (BEeS Tgabirdo @8 5, 2018 863 6" M0 DLH0S® Er 5.2, /058, BaiBgRS
DGRy ©0enIEHEEIE ©XHBN0E. 808 DHdTeE® DB/ [BES Tahardo & gyt 3ey8e ?
@ (& derdo Sybars Hored.

b) & A& (BBo JOIPFHE SEr0d0 (er) wErsorT go 8AS Agaho Brksaed.

( BEerendSo, oo PHFio S8 K@0oLo (i) SEREOMT BaliSi SPETED BOHEDE
(d) 58 TrargoiD BRES 165 SHVB™ wikEBoTd.

[O@S aaranid JodE Jabod
(1) (a),(b), (c)SmD @  (b),(0), (d)SmEs
@) (o)3mSD @ () (d)SmSD

26-D
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121. India’s rank in the j(_‘,lohal Environment performance Index’, 2018 was 177 among 180 nations. Identify
correct statements in this regard
(@)  Itwasreleased by ‘Down to Eartly M agazine.
(b)  Itwascompiled by ‘State of Ingja’s Environment’ 2018.
(€)  ‘StateofIndia’s Environment coyers diverse subjects from air pollution to environmental crimes.
(d)  Thetop five countries of index in terms of green rankings are Switzerland, France, Denmark, Malta
and Sweden.
Choose the correct answer :
1 (@), (d) () (d) @  @.®),only () (b)(c) (d)only .(4{ (a), (d) only
oS AoSDoS DONYT) 2088y 20186 180 Fered® rESEEH ToH 177 e HBord. B8
2 o3
RoLoRODY VOEN DHIBeeH HB0SA
(@) & IR0 TS o JF SmgKES (‘Down to Farth’ Magazine) Do S%08.
®) B0 P ©F 208a'T AEBoES’ 2018 Soswso BB,
© O 85 28R IS Dotn’ I8 womed, MO sk Mol JogEsn BH S8 P
ool H040%08.
@ & &rDS° IO wantd Prdd woll (AS ooloh SPob Baven D508 BLTof, (F°F), E35rE),
S, DS,
HOTDS esarenid DodE TBahod :
M @OOGd @ @OOED @ O ASED @) () (dsrED
122. Examine the following statements related to national integration :
(@) Preamble begins with ‘We the people of India’.
(b)  Directive principles of Indian Constitution direct the states to take steps towards bringing equality,
justice, liberty to all.
Choose the correct answer :
(1)  Both (a)and (b) are correct (2)  Both(a)and (b)are incorrect .
( Only (a) is correct (9  Only (b)is correct
2B HHKBD BowoBodS Bod 0Tl $B8DoS0s :
@) ‘S0 grosdd Bavorto 8 erss Tergor [HIBE (Sairoms) AnteHos.
(b)  &rE8 overorid NG8Y (sBEE) SrEred wotsd8 BEmSEo, Fabo, gy E0B AU SHgL
8508 srel ook sBBI0D. ' '
FOEN wTrendd JodE Savol :
(1) (a) B (b)Botr HOTHD (2)  (a)oBAw (b) Sotr JB@ID 52
@) (a) s $6@SH (4  (b)SHED SoF@I0
P-T 27-D
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123.  Examine the following statements :

(@)  Governor's rule has been imposed in Jammu and Kashmir in the third week of June 2018.

()  B.V.R.Subrahmanyam was appointed as the Governor of Jammu and Kashmir.

(©)  The Director General of Police of Jammu and Kashmir isSP. Vajq,

Choose the correct answer :

(1)  (a)and (b)only 2 (b)and(c)only

(3)  (a)and(c)only @~ (a),(b)and (¢)

808 worrod H68DoSos :

(a) edoy-soB)F & KSGE eSS 20182~8 Lrdd E06° Dgozete.

(b)  esom-s8)B KSGE B.V.R. jpege Aahotarrd.

(© wsoy-sB5 ovapR8 SP. 35 056 xxoS 6l 0T m s,

DOGHS aarenn JodhE Tahol

(1) () SoBasm (b) L& (2 (b) S0 (c) Smigad

@)  (a) 0B () Em(@ad 4)  (a), (b)anOai(c)
124.

Which of the following statement/s is/are not correct as per the ‘Andhra Pradesh Reorganisation Bill -
2014" ?

Polavaram Irrigation Project to be a National Project.

(b) Hyderabad to be the common capital for Telangana and Andhra Pradesh states for a period of ten
years.

()  Governor to be common governor for both the states.
(d) Common High Court for both the states for a period of one year.

Choose the correct answer :

(1) (a) and (b)only (2 (b)and (c)only

(3)  (c)and(d)only @ (d)only

‘WoHBE HIB SHHELE SQo 2014’ (B0 & Bod EBBISVOE® DB/ FBewIB/D T ?
(a) Dot FHVG HBLS ebad (FBLe SOKATE.

(b) weolf, 8vomrs al colpeds rEoverd: &Syl CREAM™ I8 JodIore S6KH
aotnob.

(€ Botd riEPeb e KSGG dotrt,
(@ o8 J058)5H sew0 o Bod TPl B0 asys FER sotod.

SO0 araid JodE Savod
(1) () S0 (b) &r@d @) (b)oBad () SMED

28-D
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125. InJune 2018, the Union Cabinet APProved the final extension of tenure of the Commission constituted to

examine the issue of Su I-".C“tego'iz-ﬂtion within OBCs in the central list. Identify from the following what is

not correct in this regard :

(@)  The Commission is headed by G, Ropin;

(b)  The date was extended upto 375t July, 2018.

() The Commission was constituted under Article 340 of the Indian Constitution.

(d)  The Commission was supposed to give its report originally by 20t May, 2018.

Choose the correct answer :

1) (@), (®) () (d) 2 (@ (b).(c) only 9)/ (a), (b) only (4)  (d)only

25 2018, & Solf§ DOBOLD £,.D.8. H8-srerrigHRS © Sowofod Domen IV LIRS (Soip) Ay

SeBORB DFOFD FANOID ©RBoD0s. I8 FowoGod:s KO ISPEB0R HBOS0A :

() & BHT 2. B wgiost DH8. |

(b) & EDES SPoBOLBR 31 278, 2018 585 D EACTE.

(©  ar8S orargoro® eBES 340 8o & 58S L55%8005waB.

(d) S SRS S5 B b 20, 2018% adSeod aodod.

S0 aarad JodE TaHod

O @OCd @ @b @ ()bEEd @ (4D
126.  Which of the following statements are correct about GST ?

(@)  GSTis to be collected at point of Sale.

(b)  GST abolishes all direct taxes levied in Indiage

()  Implementation of GST was started on 1% July, 2017.

Choose the correct answer :

(1)  (a)and (b) only (2)  (a)and (c) only

(})/ (b) and (c) only @ () (b)and(c)

GST & S020509% 808 BS° $B3D 2D ?

()  GSTR esyfo =6 (HBF0s® Sires TR,

(b)  GSTgrss806%0 o) (S5 Sdnem 88 kod.

() GSTemB1,2017 $08 s 5Qob.

SOEN 2TreniH oY Fcdhod

(1)  (a) &Bcto (b) S5 ) ()0 () SmEH

@  (®)Soa =3 4 (a) (b)S5oOa (c)
P-T 29-D
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127, Based on the Indian Air Force (IAF) order in [?"f‘t‘;nh' 2016, the Supreme Court uphe_ld the order on
banning the beard to Air Force personnel. [dentify the correct statements from u.te followlmg :
(@)  Article 33 of Indian Constitution gives the authority to Government of India to restrict Fundamengy
Rights 1 . sep
(b) Thght‘ﬁt:rl:;:c‘::tn: i:::othmg to do with religious sentiments.
(€©)  OnelAF personnel appealed to the Suprem® (.:mm onthe matter.
(d)  Supreme Court upheld the order of LAF bannung the beard to IAF personnel.
Choose the correct answer :
1 @ o..q e 0.0 @
g{ (a), (b) only @)  (c).(d)only
E20eb 2016 &6 g5 (HES THEOLI0 I 85)6° eros anag ot rbIDY ’:5 a8i%
$EQ0D0B. & ety Esbo oS JErE BE0S° ST degyod KL DOSTED. 68 Jomodons
BOBS o (DSBme) JobE Scod :
(@) erss U‘E‘"a‘oﬁoﬁea 33 % ggéﬁ oo e @@5‘5&}5 é&ﬂr&)é Bod® 3930 =0 Ajdbost
OSIES ol FEDE e DaboS” SAS DooKes DGoIHSY
b) & dposted HESEIS DeRrI8 Jowodo 8.
© B9 DRcoD o8 g8 FE0E B Deod GBS SIS ganPaRs Doy X6,
d) B3 B aosds,ggao, g8 JHrAE B¢ efsethen 2D Kté:m:&) 2OSTET) a8t
ééngo{)o&.
JOIS aarmd JodE Jabod |
1 @ o)), d @ (b)(0). (d) S
@) (@) b)ErED @ () () SSD
128. Examine the following statements about 2018 Wimbledon (women’s singles) tennis tournament :
(@) 2018 women's singles Wimbledon tennis tournament was won by Angelique Kerber.
(b)  She defeated 36 years old Serena Williams by 6-4, 6-3.
(6  The 2018 winner, Kerber, a 30 year old German, was 11" seeded at the start of the tournament.
(d) This is her first Wimbledon title and third Grand Slam including Australian open and US open in
2016.
Choose the correct answer :
()  (a), (b)and (c) only @  (a)and (d)only
(a), () and (d) only @  (b).(c)and (d)only
2018 Domes (e dohd)) BYS S*GBolp S0b ISEHeD (sowre) 56800508 :
(@ 2018 H2rte HoNG) DomeS BYS S°G6)ot5SH JoadS BHF AurHHod.
b) 363058Tre V0T DODRYD 64, 6-3 BeeS® 3G)6 L8000,
(© 2018 Doz Hree DB, 30 SoSEmyore ayS eows 3GF & SGoS sbogod® 11 S HEm
aolob.
d =0 eH ILINGE JoweS BAS 2O 2016 6° FPGODI BRI LS, 0.6, L5 &
SenHEol HrEsS ol PH eHHod.
OGS araxd Job¥ Sabol :
1) (a), (b) 5B (c) S @) (a)Bdsm (d) SnesH
@) (a) (c)SDBaim (d) S @) (b),(c) 5008 (d) S
P-T
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Examine the following pairs - P
Author
(a)  Sourav Ganguly A A B'wk T:le
(b)  Shashi Tharoor ) A;::n s Not Enough +
: of Freedom ~
()  Sanjaya Baru )
(d) AmartyaSen mmdmpﬁmehﬁmster:me Making ......... v
Choose the correct pairs /answer - The Idea of Justice

A (@), (b)and (c) oy

() (a).(c)and (d) only (2  (b).(c)and (d) only

)  (a).(b)and (d)only

808 md0D 3880030k -
B3and .
3580 W (soifod’)
(a) FBS Kot - &= 2
0SB & =45 235
(© Poudd 2% T O edRond 5 956 :5 B80R ...
d) =% DS - & ohdtr o5 285

1) (a), (b) & (o) SHSD @ () ()50 (d) 2D
B) () ()50 (d)Z=g @ (a), (b)obc (d) SmsD
130. glo the SwachhfSHI\fe#_shan 2018 rankings announced by the Ministry of Housing and Urban Affairs
vernment of India; in the category of over one lakh population, Greater Hyderabad, Warangal (i
Karimnagar secured the following rankings - t S
(1) 22,49 and 76, respectively 2 27,31and 73, respectively
(3) 38,47 and 85, respectively )  27,38and 77, respectively
e 0D Se IHFre HOBE T, 68 (45507 (BEBoSDAS 5 '
. > % =, 3 xS SKREE 2018 To8cR
06 FriorerE, S6ond S0asn S8oSiE SHoro (2.5 oF eargr o0 SKoe wﬁoﬁe)ﬁom}z
SiPyom ? 7
(1) Sdre 22,49 S8dm 76 @ Sadre 27,3150a 73
B) S55re 38, 47 S8k 85 @) SR 27,38 S8k 77
131. Which instrument was produced by blending Indian Veena and Iranian Tambura ?
(1)  Guitar (2 Violin #  Sitar (4)  Mandolin
N&&abmmg?msmmm&émaoxﬁ;ﬁﬂ?
(1) Aeb 2 @05 () ~eb @) S=ofres
P-T 31-D
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132 Assertion(A):  The British East India Compary was established in England to have trade relations
with India.

Reason (R): The balance of trade with Englﬂ“d was always favourable to India.
Choose the correct answer :
() Both (A) and (R) are rueand (R) s the correct €XPlanation of s
() . Both (A)and (R) are true but (R) is not the correctexplanation of (4),
(A) is true but (R) is false.
(4)  (A)is false but (R) is true.
SODEE(A):  erosSost smeo §6% 300l 8D sty molase 5 Hosn RBOSEER
SEesn(R):  mopot 88 myEin HYEr U8 BERS ovgdam SSIND.
R[OS aarand Jod Babod :
(1) (A)S0Bcko (R) oo Desiso (R), (A) £ KO De3.
@) (A) B0 (R)Boto Desiin 5o (R), (A) £ HOFR e st
3)  (A)Qdao, S (R) S,
@) (A)8Y, =D (R) desSo.

———

133.  Who among the famous industrialists served as Treasurer of Indian National Congress for many years ?

(1) GD.Birla () JamanlalBajj (¥ JRD.Tata (@) W.Hirachand
808 (Sdop FOENETEost B rd erBdH SoRHG o swo i Sehsomr
SHEBO 7
1) 2.8 dxp @ asrScdverd () Bebl e @) 8% Sroesod

134. Arrange the following Chinese Buddhist travelers to India in their chronological order :

(a) Hieun Tsang () WangHieuen Tse
(© Itsing (d Fahien

& (B0b B TG GBSV s08csr SRS SPorEionT ety :
(@ SoaseS Aoh (b) PR S D

© =80k (d) PP

Choose the correct answer /S0@ha azrandd QODE :
p’{ (@), (), (), (d) @ (@ b)) @ (d).(a), (b), () @  (®)(d).@)()

135. Give the chronological sequence of the following dynasﬁ&s of the Delhi Sultanate :

(@) Tughlugs () Slaves - (©  Khiljis
(d) Lodis () Sayyeds -

Bo& Ko &5 Herde So¥ (S0 Beg)dn :

@ & b o8 Sodgen () e
d &8 Derom (€ ddkigthen

Choose the correct answer /SB&0% aimrendy Job¥ Badod :
1  ©@0b.ed @ @©0b).de@e 6 @ @), (). (d).(e) & ().(0).(a) (e). (d)

P-T 32-D
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136. The army thatSubhas Chandra Boge established during the independence movement was:
Revolutionary Peoples Army (2) YoungIndia Army

(3)  Progressive Peoples Army (4) IndianNational Army

&0 ryoldy S8 HDADE’ Sepgy 505 g5 FHODT PR

(1) DSergEsd by ey (2) oof soddir b

@ @vnsbed Q) 4) =080S IS5 6by
B =T
137. Match the following :
Mahajanapadas Capitals
@) Magadha L ®  Manishmat
() Kosala ()  Girivraja
€ Al (iii) Sravasti
() Yaisa (iv)  Kausambi
808 B 285BI :
Sofedmee Sopgites
(a) e () Sety
b &% (i) PO
() @308 ' (i) (25D
@ 3% | (iv) Txod
Choose the correct answer /380G0 aaraoid Jod Bavol :
(1) (@)-(i), (b)-(ii), (c)-(), (d)-(v) @) (a)-(i), (b)), (c)-(iv), (d)-(iii)
137/ (a)-(i), (b)-(iv), (c)-(iii), (d)-() @ @-(iv), (b)-(i), (c)-(i), (d)-(iii)
138. Which of the kings in Indian history and the works authored by them is correctly matched ?
(1)  Krishnadeva Raya - Samarangana Sutradhara
(2 MahendraVerma . .. Mattavilasa Prahasana I
}3{ Bhojadeva - Manasollasa
(4) Someswara . Amuktamalyada
(B0 Beosiolis Trasen, 03 (Faboli B3506° JOMp eSSCISAIH 20 ?
(1) gdsoaden . $dooeolis SREERS
2 Heos 36 i BHEDer BIFHS
@) &= ds . BedREeEd
@ FDHs . wdogsreys
P-T 33-D

https://www.careerswave.in/



https://www.careerswave.in/ E]

139, Which one of the following codes was not presu.‘rib'"'l by Ashoka in his rock edicts 7
(1)  Obedience to parents, teachers and elders:
()  Abstention from killing of living beings.
Pj’ Accumulation of wealth.
(4)  Attachmentto morality.
o e 8 00 sosed’ Boiike Gorlgedy Gr00S Bk ?
(1) Sosolden, KotoHen Hdck Do D& FATalens
@) &S o Srbore oo
G) oS
4) 88 DenHOL é&g&)& Hotko

-
140. “Honest, but a Bolshevik and for that reason very dangerous” - who said this about

Gandhi ?

(1)  Lord Willington Q{ Lord Irwin (3)  General Smuts (4) Berkinhead
“emondtd, S0 SERE DY BHrEEEDI 568" - rogdn oD & (8D BSE DB
Pg0W0 ?

(1) 8 dpohes @ of 88 (3)  asBS Ky @ BONTE

141. Match the following dynasties with the names of the prominent kmgs belonging to those dynasties:

List-1 List-11

(@) Prathiharas () Bhimal

(b) Palas (i) Krishnal

() Rashtrakutas (iii) Mihira Bhoja

(d) Paramaras (iv) Siyakall

()  Solankis (v Gopala

Bots Ko Trassomen ©oHE™ (HE trerol sdBsEn ;
SR -1 SR -11

@ @O 0 oI

®) o @ %l

(© or@srioe (i) Qo8 &

(d) arBEr (iv) DSHE

() Rfoolden v) o

Choose the correct answer /3005 amrand JodE Babod :

@) (@), (b)), ©-Gi) ()G (e)-(v) @ (@) BHV) () (d-(), (e)-)
@) (a)(i), (b)-(v), (O-(v), (A)-G), (©)-()  (4)  (@)-(i) B}(V), (€)-(v). (d)-(i), (e)-(ii)

sl 3-D
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Match the following :

List-1
a Pallavas ;
Eb; Cho?as = 83)
()  Vijayanagar (i)
(d) Hoyasalas (iv)
(808 A 2SHBSHHw ¢

SEH -1
(@) Deayew Q)
b) Seoen (i)
©  DesaHS$KE (i)
) Fadreown (iv)

https://www.careerswave.in/

List - I1

Hampi

Beluru
Mahabalipuram
Tanjore

SO §
o
Bt
OB
Boerdpd

Choose the correct answer /".65@;5 2TPE JobE JHoh :

G @-Gii), d)-(iv), (o)-6), (d)-Gi)
() (@)-(v), (b)-(i), (c)-(iii), (d)-(ii)

143,

(a)-(i), (b)-(iv), (c)-(i), (d)-(3)
(a)-(ii), (b)-(iv), (c)-(ti), (d)-(1)

(2)
@)

Identify the incorrect statement aboyt Bardoli Satyagraha of 1928 :
It was against the British Indigo planters.

2
3)
@

It was against the money lenders,

[t was in support of occupancy rights for farmers.
[t was against the increase of land revenue by 22% by the Bombay Government.

1928 6% @BAS 28%0 JEnyfFa8 Komoriy ) O KHBoWHED :
(1) ©& Do See DD datried SHBE.

(2 ©b SgargErdhes SB8Eor abAS.
(3) - b SHeH SenrEnw So,BoSTI8 wdhod.
4) B Foeron (H2H850 22% &8 wHEOT GoHS HBVEor ESINSE.
144. Match the following :
List-1 List-II
(a) Kalhana (i) Harsha Charitha
(b)  Banabhatta (i) Panchatantra
() Kautilya (i) Raja Tarangini
(d)  Vishnu Sharma (iv)  Artha Sastra
(8od HY eSSBS :
SER -1 SHD-11
(@) Sew . () oG S8
b)  ereagiy (i) SosSHold
© B8y (ii) ores SBONA
@ ¥ iv) ©f =
Choose the correct answer /30&S aaeni JODE Sahod :
(M) (@)-(i), (b)-(i), (c)-(iv), (d)-(iii) @) @), (b)), (c)-(ii), (d)-(iii)
(@)~(ii), (b)-(i), (c)-(iv), (d)~(ii) @ (@)-(ii), (b)-(), (c)-G), (d)-(iv)
P-T 35-D
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145. Match the following
List-1 List-11
(a) IbnBattutah () Futuh-us-Salatin
() AlBeruni (i) Kitab-i-Hind
() Isami (i) Tughluq Nam‘ah
(d)  AmirKhusrau (iv) Tabatqt-i-Nasii
(@)  MinhajSiraj (v)  Kitab-ul-Rahle
808 A edSLDHI :
$% -1 S%d - 11
@) oS otob () 9S-oR-3er8S
b) ©S B8O (i) Sed-a-trod
€ s> (i) SofE T
d) ©WE > (v) oes-a-30
(©) S Bdoes v) BedS-ad-Gp
Choose the correct answer /SO 23aredid dod¥ Bahod :
D (@i, (-G - (@) O @) @-0 (V) (4v), (AN, (-0
B (@)-(v), (b)-{i). (c)-(0), (d)-(ii). (e)-(iv) (@) @), L), (O)-(iv), () ()
146. Examine the following pairs and find out the correct answer :
(a) Babul - Thorn forests
() Neem - Evergreen forests
() Pine - Tropical forests %
(d) Teak - Deciduous forests v~
Choose the correct answer/ pairs :
(1)  (a)and (b)only (2) (a)and(c)only
@)  (b)and (c)only @ (a)and (d) only
808 adoiod SOES HErEreR) SRSl |
@ eed - Swoy wdPHen
b 3B - BT vl e lop SV
© BN - agotod olHe
d 8% - wforey) w8
B0 waraxd/asol JodE Jabod :
(1) (a) 500k (b) @D Q) (a) S8 (c) SMSD
@)  (b)Bakn (c) S @) (a) S0 (d) SHSD
147, E:\;e:tlabes with the highest percentage of urban population in India, as per 2011 Census in descending
(1)  Tamil Nadu, Maharashtra, Gujarat  (2) Tamil Nadu, Maharashtra, Punjab
(3( Maharashtra, Tamil Nadu, Gujarat  (4) Maharashtra, Tamil Nadu, Punjab
rBSBE0Ed 2011 aTer BE® (B0 BERE Syn aTer T80 Ko ooEpen, o385 ESHos® |
1) S, DHiFog, Hacd Q) SDETD, DY Sowrs
@) Sofoeg, SHETD, Hers @) SFog SWETD, SowrS
P-T 3-D
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Match the following, :
List-1 (Mangroove site)
(a) Karwar
(b)  Coringa
()  Pichavaram
(d)  Bhitarkanika

808 B s Y880l
erdor - 1 (58 98He ,3;;60}

List- 11 (State)
(i)  Odisha
(i)  Tamilnadu
(iiiy  Andhra Pradesh
(iv) Karnataka

5 arlor -II(U‘QO}
g; s () ead
O iySco (i) S
(d) OeeB8 (i)  woy HBE
(iv) Koo

Choose thgcorresf answ.er/pairs/;aa@;ﬁ & fad0s JoE Jabod :
G O @i i, B, (040, (00
r OH1), (i), (d)-(iv) @) (@)-(iv), ()-(ii), (O)-(i), (d)-()

149. The lake Vembanad is located i :
5 ?{?ﬁﬁr:;}::tt (2)  Coramandal coast
JoersE B65y agen : (4)  Utkal coast
() oeb bdo @) S0 bbo
() &0o8S d%o W s boo
o 322::;0(;5‘?): %::;?:E;ME“ along the western coastal plains of India.

al plains are more broader than the eastern coastal plai
Choose the correct answer ; P,

(I)  Both(A)and (R) are individually true and (R) is the correct explanati
Lo planation of (A).
(2) _ Both(A)and (R) are individually true but (R) is not the correct explanation of (A).

(A) is true and (R) is false.
4) (A)isfalse but(R) is true,
BOFES (A):  grEEDE S8y BY Draredt Ber D)Ko ©rHhoS.,
=860 (R): EPOSBY D8 B8 Jrrmren dxtybs BarmroLos QKNS DYBID.
JBES azreniy JoDE FoHod ¢
(1) (A)200ak» (R) Botr 2.a) S0 (R) 638 (A) % $6& D588
(2 (A)SBa» (R)Botr 2. 59 (R) ©36 (A) & S6&0s D566 S0k
B)  (A)eId ey L8dm (R) w38 83
(4  (A)e3b 8 50 (R) 076 iy

151.

The states which occupy first and second places in sugarcane production in India :
(I)  Andhra Pradesh and Maharashtra

(2) - Uttar Pradesh and Maharashtra

(35/ Maharashtra and Andhra Pradesh

(4)  Maharashtra and Uttar Pradesh

TOEDEES T AHBE® (555 DB BBk FTos® Ko Trdpes :
(1) @oFEEE Sobat SHiskorig
(@) 685538 mbaty Hoorg
B)  SFoG S8 soEHES
(1)  SForg S0k ag8HES

P-T

37-D
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152.  Match the following : _
List-1 (Doab) List- 11 (Rivers)
(@)  Bist () Ravi and Chenab
®) Bari (ii) Chenab and Jhelum
© Chy (iii) Beas and Ravi
(d) Rechana (iv) BeasandSutle
800 T8 asd8Sod :
O -1 (38 wods PaSo) T - 1 (Soe)
@ 8§ (i) o2 0k S
b 8 (M) O Hba» deo
© o8 (i) HOTR Hba =D
(d) Bom (iv) DoseR Sdakn SJE
Choose the correct answer/ pairs/SBES aTen/adom Joby Jawod :
1) (@), (b)), (©)-(iv), (d)-(i}) )  (a)-(iv), (b)-(i), (c)-(ii), (d)-(ii)
@ (@-), )i), (0)-ii), (d)-v) @) (@-v), (b)), (c)-(ii), (d)-()
153. Read the following statements:
(@)  North India receives rainfall from westerly disturbances during winter season.
(b)  North-East monsoons gives rainfall to Tamilnadu.
(¢)  Indiamostly receives rainfall from North-East monsoons.
Which of the following statements is/are correct ?
@ (a)and (b)only @  (b)and(c)only
3) (a)and(c)only @) (a)(b)and(c)
808 DSBROD SEH08 :
(@) derseos® S stoste Hg AEY ESBTRS SEFFSo FrK0b.
b) SE endSHTeo SHETHD SEErEe RO,
@ erostedl Sl apbiso Sy 088 Srso ofRob.
HBEE HOIS DSBeoen DD ?
1) (a) S0 (b) S @  (b)%o0as () &mSD
@)  (a)0ai (c) D @)  (a), (b) B ()
154. Zawar mine in Udayapur is famous for:
1) Gold @ Mica (;/ Coal @)  Zinc
ABEHGEED b Keo DAB8 50g :
(1) woormdo (2) wgEo @) &% 4 S
P-T 38-D
s e

https://www.careerswave.in/



https://www.careerswave.in/

155. Match the following :
List -1 (Nuclear power g,

(a)  Kakrapar tion) List - I1 (State)
(b)  Rawatbhata (i) galj)asthan
(€ Kai i) UP.
(d) Nar%;a (i) Gujarat
80b 8 ad BIod - (iv) Karnataka
0o - | (o= 1as ) éOLdO}
@) =6 o 3'9;; I (cv(go)
(b) oS Eerdy 1 DRl
O = ) o85 ©a8
) n;_ﬁs‘cn (i) rDae&
(iv) Somps

Choose the correct answer/ pairs /

), (b (i e PO examen /et dobE St
1) (@Hv), (i), (), (d)-(j) . = e

i), (510, (0 (%), G @) (@0 BH) (i) @1
R @) G 1, O @i

156. Assertion(A):  Black soils
5 are formed dye o weathering of basaltic rock.

Reason (R): lack soils haye hi _ ; ’
Choose the correct answer : 8h moisture retentive capacity.

8; gg& E:; ig %} :11:2 ngwv:g“:g}' trueand (R) is the correct explanation of (A).
()  (A)istrueand (R) is false. ually true but (R) is not the correct explanation of (A).
(4)  (A)is false but (R) is true,
(B8RS (A): ea%;é Beoe 3Bego Se Sedra @‘méé)&ﬂ" ) 4
=60 (R): NEORE grsmen 985 Eks eSS ' i
5B ama JobE Idhod : RETe i flod
% (A) 005 (R) Dot 2.5) 0w (R) 038 (A)% 568 566,
) (A)Bain (R) Dot 2.59) 57 (R)oRB (A) % BTN DSBes 5.
B) (A)ob o) S0 (R)es3n &),
@ (A)eld 83 =D (R)eds &)

157. Assertion (A): Pune, which is located near Mumbai receives Jess rainfall as compared to Mumbai

Reason (R): Pune is located in the leeward side of ern
west i
: : ‘ ghats and Mumbai on the
ChOOSe the correct answer :

(Y Both (A)and (R) are individually true and (R) is the correct explanation of

)  Both(A)and individually true but (R) i e i
s c(lR&{a;r: :::j = ually true but (R) is not the correct explanation of (A).

(4)  (A)isfalseand (R)is true.

BBES (A):  Swoeron S %) GH Kwoeron Ko S5 SEFeed) Frothikond.

S*¥x0 (R): B DD EDoH IS Soveywo 3P @od. @R Jwozran HBHDH EhdeH
D58 @dlnporr aobd. '
0@ e JoDE Sdhod -

(1) (A)Ba (R)Botir 2. S0 (R) &30 (A) % S8 Db,
(@) (A)H0as» (R)Bokr 2.5) 59 (R) 36 (A) % SO@S D560 oo,
@) (A) o3R8 a3 26a» (R) &30 3.

@  (A)esde 8y =2 (R)ed0 2

—

P-T 39-D
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158. Read the following statements :
(8  River Narmada flows in a rift valley. _
®)  Vindhya mountains are located to the south Of river Narmaq,
(&) River Narmada is a west flowing river.
Which of the statements are correct?
(1)  (a)and (b)only f’( (a) and (c) only
3)  (b)and(c)only ) (a).(b)and ()
808 DSBmes SBS0b :
(a) SEoe 36 DBKEO rhow (DHSIPRROB.
(b) Sgee %68 Bhwor Dogs B0 BT
© SGoe 56 sfyon (SB5iroD 8.
66 JoFR Dstren 2D ?
1) (a)S0c5o (b) Se(Ead 2 (a) DB () SmSD
B)  (b) 0ot (o) SrEd CRONCEEN
159. The states having highest literacy rate according to 2011 Census were :
(1), Tamil Nadu and Punjab (2)  Kerala and Punjab
Kerala and Goa (4)  Keralaand Mizoram
2011 esegr BEP (Hsebo @é;&é @gm}ﬁéé aR) m@goa .
(1) SDETD LB Hoerd 2) T8¢ bk Hoard
(3) B8Y S0 AP 4) S6¢ SHbas» &foro
160. Match the following:
List-1 List-1I
(@) Mountain Etna ()  Block mountain
Aravalli ii)  Young fold mountain
?2 Himalayas /7 Eu:) old ffld mountain
(d) Vosges (iv) Volcanic mountain
808 B 285858 e
adoe -1 aDar - 11
@) Qe Skdo @[ epB Sdo
b) oS (i) oS0 SwEd Styo
(© erdrediren (i) e Sorsd Jego
@ &3 (v) of StEo
Choose the correct answer/ pairs/38@ avaid/adod J0b8 Jakod :
(M) @) )i, (©-v), () @) - (@)i). (b)-(iv), (c)-(ii), (d)-(3)
@) (@), ®)-(ii), (c)-{ii), (d)-iv) 44( (@)iv), (b)-{ii), (c)-(id), (d)-()
P-T 40 -D
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P

Examine the following statemen, :
ts about the following articles of i itution :
(8  Article 245 of the Sieting the g s of the Indian Constitution ;

are subject to the provjsicomﬁmﬁon states that the powers of both parliament and state legislature

Ons of the Constitution.

(b)  Ifan accused person js 4; N
offince, Hiere ot Viola?juec':Ed to give his voice sample during the course of investigation of an

on of his ri d .
Choose the correct answer - right under Article 20(1).

(1)  Both (a) and (b) are cory et . |
(3)  Only (a) is correct ‘&( Both (a) 3‘nd (b) are incorrect
(4)  Only(b)is correct

&
grS8 ooergoros® 808 R{REI TSN RoD0gons woses 56400508 |

a) gr88 ooecorostn
@ 403 cﬁ:n:g 39 &05‘45 R8GO oty LB o) 208 Kefen oeargol oo ol

(b) 38 Deebess® grrfom 9 S
38 R ﬁgoaboagse.p e Al Aok W 2] ehEe et o sl

JOES e J0dE Faho -
(1) (2) %0 (b)Botr $o@s2 (@)  (a)&0as (b)Dote SOESD =9
@) (a) SRS KOS @  (b)Sr(SH SOFSH
162. Match the following :
List-1 List-II
(@ Narmada bachao andolan ()  Sunderlal Bahuguna
(b))  Chipko movement (i)  Daripally Ramaiah
(c)  Biodiversity concept (iif)  Medha Patkar
(d) Vanajeevi (iv) Edward O Wilson

(v)  Michael Greenstone
808 B adH5504

05-1 : 03-1I .
@ I oS oS () DosBerd advren
b) 098 wostys (i) B oododsy
© &5 3065 erss (i) e dend
d 5549 (V) G & denS

) Powd OSYES
Choose the correct answer/ pairs /380G0 asareni/ases JobE SdHol :

(D) (@)(ii), (b)~(i), (c)-(iv), (d)(ii) @ @) b)), (Hv), (d)-(iv)
(@), (b)-(i), (c)-(iv), (d)-(i) @) (a)(), (b)-(iv). (c)-(v), (d)-(i)
P-T 41-D
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163. Examine the following statements about prof, N.N- Wig who expired o 12th July 2018
(@)  Prof. Narendra Wig was amongst the foremOSt Psychiatrists of India.
(®  In1991, the Royal College of Psychiatrists: London honoured him with the highest award of the
Honorary Fellowship of the College.
()  Heis the second Psychiatrist from India to be honoured with that award.
(d)  Hewas the chairman of the World Health OTganisation (WHO) Advisory Panel on Mental Health.
(@  He was born in the West Punjab district of Gurjanwala,
Choose the correct answer :
(1)  (a),(b),(c)and (e) only 2  (a),(d)and (e) only
(¥ (a).(b)and () only @) (b} (c)and (d) only
&8 12, 2018 oo Sgids wardy NN. R 10000 808 me (womred) $68D0S08 !
(a) 58880 @) FogyTnrss IR Ri0s” By SBos OF el BHEEBS KL
©) 19916 s SEE u5 PAARBEY, otS T W0 HONE 6§ b B odyHS HBFBoE
2 TEJoNOB.
© & HEPos® rBDdoted grtsBoine’ adtd BokS PBRAE,
(d)  (B%oS b Hog ‘ErORE eB%0p SO HoLDS wdd PYST s,
@ o8 58 Hoarss’d HbeTe® Berd® aomid.
$O@os asareniy JobE IcHod :
(1) (@) (b), (c) S0 (¢ SmED @) (@) (d) 00 () SeEd
(3)  (a) (b) B (€) SPSD () (b).(c) B0k (d) Erlesd
164. As per ‘Socio Economic Outlook - 2018’ and 2011 Census, the following districts have lower sex ratios in
Telangana. Arrange them in the descending order as per sex ratio :
(a) Hyderabad (b) Wanaparthy () Jogulamba Gadwal
(d) Rangareddy () Medchal ()  Sangareddy
Choose the correct order/answer :
(1) (a)(e), (). (b) ()and () @  (e)(@)(d) () (b)and (c)
o @0, HandE @ (©.0,0)) @and(d)
DBGEP DESNE TSenk - 2018 £Bck 2011 esirgr B [BSPo Bvorres &9 80b Bepod® doK (Bon¥)
0:5)8 ST G0B. & Bepuid BonE AYB HEevo BIE T EsSo08® @80l :
@ ooeeh (b) 38 @ &rboron Koxs
(d) Yorrdg () 3;;5,‘)5 () Sorrdg
$OG@S (E00% / ek obY Jcholk :
1) (@) (e) (d), (b), (c) 0O (f) @ (e (@) (d) (@) (b)0 ()
@) () (a) (e). (b), () 0 (¢ @  (© ) b)) @)
P-T 42-D
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165. Examine tlhe following St.“m“““ts regarding the Fundamental Duties :
(a) ;\rtu;le 51 dei:l:; with the F““damental Duties. \.\r
{ nta I i
ﬂ?) Fllmi o 1 D:tfes = INCorporated in the Constitution through 42"d Amendment Act 1976 >~
(©) Fun:inmt nta ties cannot pe enforced by ‘writs”.
i Duti
(@ wnsamenial Duties cittrio be Promoted by Constitutional methods.
Choose the correct answer :
1 a) and (b) onl
M (@and(B)only @r” (b)and (c) only
®  (d)and(c)only .
FHE DPo% Yowohod & At
8 °8 wore 568000 -
() 19763012 4255 TPyl 2i50en typn |Beesines Desoessts oSS
(€ 'O yre @EDE Do s Sapdo,
(@)  Ceempor SEHOS B Diberss Jooder Bavdo,
OGS esTrend JodE JHoA :
(1) (a) 005 (b) SrED @  (b)0am () S
@) (a)Hbov (c) SrED @  (a), (b) B (c)
166. Regarding the state bills reserved for President’s consideration, examine the following statements :
(@) President may declare his assent to the bill.
(b)  President may return the bill to the state legislature for its consideration.
(c)  Statelegislature shall reconsider it accordingly within a period of six months.
(d)  Ifthe legislature again passed it with or without amendment, President shall approve it.
Choose the correct answer :
(1)  (a).(b)and (c) only (@  (a),(b)and (d)only
(b). (c) and (d) only @)  (a)and(c)only
D08 ToBS Dey ToFHB sIrCrS HodR, T ©HSTRE F0m050D L8 DEmeH 56800508 |
@ G5B o Dend SosEo 3@5&3}
b) TFEDS 3¢S HI:0080N FEH ToPHd 8 SodSWy).
© oS8 drsS5d edbdesore oo RS 565 6300 659 H%:50800m0.
) I58Eos® ™ Sor $S58ne BHome ™R BoESF0 °g T8 3¢ 6IraD, S8 SB)S0m
0850 IS,
SBEN areni JodE FaHod :
(1) (a), (b) SO (c) SrieSd 2 (a) (b) SO (d) EmED
B)  (b), (c) 2B (d) SmEH (4)  (a) 000 () SrED
P-T 43-D
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amine the following statements :

167. “ o 2 ‘15 laws. I “ i A ! il’ ex i i ]
E‘a;rh ‘“:!;‘l‘\:l:::‘i:::Ili::i\i:w ;:I‘.:::-:flf::;:i‘i\ll be introd urcltl in either house of the parllafner;‘tc,)um
b Al members of the parliament have the righ! Uill)l!lrml!_“v bills in their respective NOUIS.
ill may be fuced vither by a minister or by a private member. .
%:1)) #al:l:l:l‘ll I‘:\.'lsth:'l:‘tlrinltu:ll:lti:al'i‘vld‘in 111' official gazette before its introduction. no motion for leave to
introduce the bill is necessary.
Choose the correct answer:
1) (a), (b)and (c) only (@  (b)(c)and (d)only
3 (a),(b)and (d) only @  (a)(c)and (d)only
oS Stoen Biyod. B Sop0B0d 80b ©OTLH $68D0S0l :
(1) Q8 Depd® O oY Dexoin, gD $506° D $g56° wowe B3 DRZR
b)  EDos Sggposss =6 =0 S0t Do HIEVE whso aoLw0l:
O Do 0@ S0, RIE Seoe S0 BT DI, 5
(d) (OSFLHE8 008 ©Hs0S KBSE® (DO Dey $E6° (H3FDLTRE Jerod 958 B
8.
SOES aTrandy JodY Tadod |
(1), (a), (b) 2B (c) SPED @ (b). (c) $Bak (d) SrHED
(a), (b) Bt (d) SRS @) (a) () %0k (d) SeEd
i
168. Examine the following statements: ; - .
(@)  The Indian Government approves corpus of ¥ 5,000 crore for setting up of ‘Micro Irrigation Fund
(MIF) with NABARD under Pradhan Mantri Krishi Sinchayee Yojana (PMKSY).
(b)  The’Microlrrigation Fund’ would substitute 'Per Drop More Crop’ (PDMCQ) component of PMKSY.
Choose the correct answer': ;
(1)  Both (a) and (b) are correct. (2) Both(a)and (b)are incorrect.
(3)  Only (a)iscorrect. (4)  Only (b)is correct.
800 worod H08DoS0d _
(@) ‘B58 S0@ B dowran @res’ (PMKSY) S0t e (NABARD) 8 E* 567&S $ob' (Brg
BA e 20) Domin B0 grsd (58080 T 5,000 & SPE)P wIrBOD08.
9 )
(b) (HES Hol8 (B dowrow FradE® erKDS B8 I8 HHH KRS Ho’ (H6 &5 6 15°9) B
e Ve D8 Fsoso VG @3#&&7;63.
BSOS aareri JobE ool :
(1) (a)o0ckw (b)Bokr SOOI 2) (a)0A5w (b)Borr JBEHID S°.
9)/ (a) EPED SOFIO. @  (b)SPED SB@RSB.
169. Which of the following responsibilities are under the preview of the Finance Commission ?
(@)  Sharing of net proceeds of taxes between the centre and states.
(b) Recommending the principles for governing the grant-in-aid to the states by the centre.
() Recommendation on the matters referréd to it by the President for the interest of sound finance.
Choose the correct answer :
(1) (a)only (2) (b)only (3/ (b) and (c) only @ (a), tb)'and ©
800 BS* D antgBen ¥RY Moo I6HS*8 SJw?
(0) Sipe V88 woraird Sogo Hbaky cFpe S BN
) Sogo e wolod ¥istairel Yopofods IWIFOD DPED Icwo.
(© OVER0 MrSSol ehrbnom ol P ErPPoB0IERS SIIEDN HJEHen Jabo.
A0S erandd Jobs Sabol :
- (a) SID @D OirEd @) OIBEOINED @) (a), (b) 20 ()
P-T &4-D
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Examine the following statemen;s about the NITI Aayog of India :
(a) It was established to Provide
of Indian economy,~

b It I'xelps to evolve, promote and strengthen cooperative federa]jsm"/
()  Itformulates five year plans for India. v/

(d) Itwillcreatea knowledge, innova

& critical, directional and strategical inputs to the development process

tion and entrepreneurial support through collaborations.
Choose the correct answer : Hrep PP &

Q)/ (a), (b) and (c) only
(3)  (b).(c)and (d) only
er8SBIost FdoswdS dy (NTTT) saeF; s,

(2) (a),(b)and (d)only

4)  (a)and (c)only

$o®000d% 808 wodres HB8D0SOAR !

O ST OONS TS 5905 o el ©8a5S woBoSTm08 5D wd Dot

(b) FESTES" SirseS Soogy KD D) BroSErs, BOTESERE, ErRroBoSEOS b E%KE08.
(©  &rEEEE08 SouSE, (BerBSess smdrottoos,

d a3 50 - e
(d)  eRome oo S0P, SS8e)Sow, SSBE DS & B0 KYRob.
SOSE esarenid JodE ol

171,

1) (a), (b)BAso (c) S @  (a), (b) Bk (d) Sv(&d

(3)  (b),(c) 5B (d) (e @)  (a) S0 (c) S

Examine the following statements about the ‘Scheduled Castes and the Scheduled Tribes (Prevention of

Atrocities) Amendment Act, 2015" ;

(a)  The Actcame into effect from October 2, 2015.

(b)  Special courts are to be established for speedy trial of the cases related to offenses against members
of the SCs and STs.

() Preventing tribal people from using religious, health and educational institutes is also made
punishable by law.

Choose the correct answer:

1  (a)(b)and () (@ (a)and (b)only

(3)  (b)and(c)only (4) (a)and(c)only

Qg Heren, S 3o (SR Dardin) $586 3K’ 2015 0009 808 sosve 5680080k :
(a) @&b 2,2015%08 & S0 DS S0B.
(b)  SCoBasn ST Sehse S58BEor abh Jore Konosods Twek SKSosorr Db aESmOs

e (H858 8o doven Jaird.

©  ABesS (Hesen SoSBER, wEHHERS B ITFSEHH Jogos 5@PA0HE Do dboSto
Erge SQSsE0 Bgrdo.

SOEN aTrend oY Jabhod : .

(1) (a), (b) SBak (c) 2)  (a)00akw (b) S

(3)  (b) 00w () S SH @)  (a)soBakw (c) S FD

45-D
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Examine the following statements: .
(@)  Integrated Goods and Services Tax (1GsT) wauidr bt levied by the central government and collected
by the state governments on inter-state supply of goods and services,

()  GST council was created as per the Article 279A of the amended Constitution of India.

(©) Telangana was the first state that passed the GST Bill in India.

Choose the correct answer :

(1) (a)and (b)only @) (b)and (c)only

@) (a)and (c)only @ (a)(b)and(c)

808 wowed H0800%0d

() shogys Sighise sy (GST) S Do SoSmg S50 Do, & Siigid Bod WL
67, T [Hgosmgee Sreo B

) rEsEEH $5B0SpAS Taryolios® 279A 8058RO @50 GST TS (£0ED) SrRroboisalod.

© go8B%06® GST deyd siraods 288 Tigo Bvoree.

BSOS werend JobE Bakod :

(1) (a) BB (b) S 2 (b) 0B (c) S

@) (a)HBa (c) S @) (a), (b) B (c)

173.

Examine the following statements about constitutional interpretation of environment by Supreme Court of
India :
(8)  The principle of ‘absolute liability’ was laid down in Oleum Leakage case.

(b)  The concept of sustainable development was introduced in Rural Litigation and Entitlement Kendra,
Dehradun Vs State of Uttar Pradesh case.

(©  ‘Polluter pays principle’ was adopted in Indian Council for Enviro Legal Action Vs Union of India
case.

(d)  Exhibition of slides free of cost on environment in Cinema theatre was ordered in ‘M.C. Mehta Vs
Union of India’ 1991 case.

Choose the correct answer :

(1)  (a) (b)and(c)only (2)  (b)and(d)only

3 (a)and(c)only 4  (a)(b).(c)and(d)

68 o 8% Berydtpos ool griije 3RS 80 Jbwed 56880508,

(@) OEDE e Srigo L0 B8 ragod’ Bholiod.

b) REE PR S Er5S DBAGS woE JoBBEDOLS o, BEPErS Vs 5 uf 688 SBS
Faos® (SBTDYREB.

© ‘Sroolgsetitd goomd Sn@oih sobdbS TS 36 G DS IS Vs ardaDS e molase
Feyg08® eTrbobRld.

d) SoIDS BBGS ot SoSsR0R GDSorr P owED [BEOTPER I.D. ird Vs SoPASHS

65 20865 1991 rees’ eS8y asywiod.
50&o waredd JobE Dandv ;

(1) (a),(b) O () SmSD 2  (b) Baks (d) Erigad
@) (a) S0 () ERSD ' @  (a) (b) () B (d)
P-T 46 - D
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Furopean Bank for Reconstruction and Development (EBRD):

174. Examine the following statementy about the’

(a)  The bank was set up in 199 after the fall of the Berlin Wall
(b)  The bank’s headquarter i located in Berlin.

(©)  India became the 69t shareholder of the bank.

(d)  The bank aims at Promoting public i

nfrastructural initiatives in emerging Furope
Choose the correct answer : ging pe

(1) (), (b)and (c)only

2 , (b) and (d) onl
@ (o)and (@ only G et
DiQEgeo HO ARG 5o diriuans oty (EBRD) 1000 808 Dstme (Soeei)
58800508 :
@)  BYS A () 3850 S & emor; 1997 6 domen Babhelob.
()  ergoH BEPS STFOA0 BESE aca,
© erosH @) 69 S TERTE M 88340 3608,
(@) oot oFjo DB Wt (5o 78 sepvaire Koy Bemroso.
HOEN esarand JoDE BaHod :
(1) (a), (b) S0 (c) SmSaH @ (a), (b) 50 (d) S
(3)  (b)oBosw (d) SrED @) (a) 5B (c) SrSH
175. Match the following states with their respective Maternal Mortality Rates (MMR) during 2014-16 :
State MMR

(a) Kerala @ 237
(b) Assam (i) 199
(€ Maharashtra (i) 66
(d) Rajasthan (iv) 61

v) 46
2014-16 SP00é® 808 TPoid B (H5r8 Hre Gend® (MMR) 23855508 :

oogo (B5r8 S¥ere Tin

(a) s8¢ @ 237
(b) o (i) 199
(0 Sfoeg (i) 66
d oas (iv) 61

(v) 46

Choose the correct answer/ pairs /S0&S arad/adoH JodE Jabol

@ @-(v), (b)-(i), (c)-(iti), (d)-(i) (@)-(v), (0)-(3), (c)-(iv), (d)-(ii)
G)  (a)-(iv), (b)-(ii), (c)-(i), (d)-(ii) @) (@)-(idd), (b)-(id), (c)-(iv), (d)-(i)

On which of the following dates did Pandit Jawaharlal Nehru laid the foundation stone for the construction
of the great Nagarjuna Sagar Project ?

(1) 1 August1955 (2) 11 December 1955

(3)  1October 1956 (4) 1November 1956

| 2536 o8 o e AeKE (B AoyeEnSS FoHpDS IVY 38 6 ?

(1)  1ery1955 (2 11 &%owb 1955

) 108%6 1956 @ 13308 1956

176.

47 -D
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Which one of the following statements is not correct !

(1)  Dr.BR Ambedkar favoured smaller states.

(2)  Masuma Begum was the first Vice-Chairman of the ”l‘t'filngam Regional Committee'.
(3)  Telangana Mahasabha was formed in 1957-’ '

(4)  K.R. Amos was the founder President of the Telangana Non-gazetted Officer's union’.
B0b BbSred® X058 28 ?

(1) o B.66. 0ol O%) TEEe e EgEa VBT,

@) s Ao ‘Boorem @roBab SD& 2058 35-34S.

(3) 1957 & ‘Bovorre P, TS AT Qc‘j::oa"d).

@) ‘Boorme wSAABE whidf) SrRERS BPPIE oL 8,66, 6Irs.

e

178.

Dr. Burgula Rama Krishna Rao wrote a lengthy letter making his stand on separate Telangana to the
Congress President. Who among the following was then the President of Congress ?

(1) DX Baruvah (2) H.N.Bahuguna

@  ]B.Kripalani 4)  U.N.Debhar )
oo exrtpe ToEE)E 07 $8s8 Boorres 5ot &5 @fErairedH Bayndr sPoRR o508 28 268 B
R, ofB o> LD IS ?

(1) &3 2% (2 TR a0

@) 28 §Jed @ .8 326

179.

After Dr. Marri Chenna Reddy was arrested under the Preventive Detention Act in
July 1969 who among the following women, Ie;?e T.P.S. agitation:

(1)  DurgaBhaktavatsalam Sadalakshmi

(3) Roda Mistry (4)  Sangam Lakshmi Bai

oo S0l B9 B dwotsly IGowDd (®.8.) 380 DL 1969 =~ J0s® eBPand Sond Boorts (e
BB (808 aEr) FOFNODD Sodyge arahETren D55 ?

(1) oo gEsEo 2) Sorof)
@) & 2R @ oKo oferan
180. Match the following :
Programme Organisation
(@) ‘Telangana Poruyatra’ (i) BP
(b) ‘Telangana Prajayatra’ i) CPI
() 'Telangana Vidyarthi Ranaberi’ (i) ABVP
(d) ‘Telangana Yuddaberi’ (iv) Telangana Sangarshana Samithi
28BS
S p“:o:g
(a) ‘Boorrs AT i 8
(b) ‘Boorres Herde’ (i) .6
© ‘Boorrs JoP BnEd (i) 2.90.92.
) ‘Booree angEHY (v) Boorrm Sogm SMd
The correct match is/P0G0N &
1) (@) (b)-(i), (c)-(iv), (d)-{iii) @ @), (b)-(1), (c)-{iii), (d)-(iv)
@) (@)(i). (b)-(D), (©)-(i), (d)-(iv) @ (a)-(iv), (b)), (c)-(ii). (d)-6)
P-T 48-D
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The 1969 agitation for separate statehood began on the issue of employment at :
( Kothagudem Thermal Power Plant
)  Singareni Coal Mines
(3) Nizam’'sSugar Factory
(4) Andhra Pradesh State Road Tmmport Corporaﬁon
1969 60 @855 °°F 6655500 (80 3 503 4in SEY Do $5058° (BB ?
3 .
1) FETo 545 eiyS st
2) Dorde &% Hioen
() Rero IKK Soprssy
(4) ©oEESDS °°F 6% sameg g0
®

182.

o e e
Arrange the following in Ch.ronologica,[ order :

(2)  Telangana Praja Front’ was formed by Gaddar. v

() "Telangana Dhoom Dham’ was held at Kamareddy for the first time.v

(© Comwt party of India organised "Telangana Poru Yatra’ from Jodeghat to Hyderabad.
(d) Bharatiya Janata Party organised ‘Poru Telangana’ from Hyderabad to Bhadrachalam.
Bod T8 SBHREB0S Dy -

(@) "Boorrs @30S S HEE Soren Favo,

(b) ‘Boorrem Gro PO’ IneInSBIEmT SEr0S &° AkroTD.

©  &e58aD S5OR 38 S A ol RS 556 Beorem B ISR’ ISk,

(@) 0D s> PE IECERD Dol forseo SBH D Bvore’ SEYESPRY NSIroT.
Choose the correct answer /30@S amrans JoBE SaHol -

@ ()@ () (d) 2 (®)().(d).() ,(35/ @). (b), (0), (d) @ (©.(d).(b).(a)

183. Match the following :
List- I List- 11
(@) Ampasayya Naveen () Pantulamma
(b)  Sangishetti Srinivas (i) Veguchukkalu
(©  Devulapalli Ramanuja Rao (i) Kalarekhalu
(d Madireddy Sulochana (iv) Shabnavis
(508 8 asHtHs :
&dar-| s -1
@ ®osIang $HS () Soedy
)  Son3d #d=>S (i) SoSHen
© TS vsmde oo (i) sceBwen
(d) Sr68E 6tss (iv) 3[R
The correct match is/S0GHN &8 :
(1), (a)iii), (b)(iv), (€)(ii), (d)-(i) @ (@Hv), (b)), ()(ii), (d)~(i)
9‘7/ (@), (b)-(i), (i), (d)H(iv) @ @), (b)iv), (c)-(i), (d)ii)
P-T 49-D
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184. K. Achuta Reddy was elected as first Chairman for the Telangana Regional Council by defeating

@ BV Gurumurthy () MirMohammad Ali Khan
(3  RaviNarayan Reddy (4) BaddamEllaReddy
2559 £.800 3. ey B8 Bvorms @obab $0E5 STRD san 2

1) .9 K%HBmY @ 80558 ob 5

@) oD Forahes 06 @) 8o Jer 38

I

185.  Which one of the following Commissions was appointed in 2002 by the State Government to study on
implementation of G.O. No. 6107

(ﬂl{ Jaya Bharatha Reddy Commission 2) ]M. Girglani Commission

(3) KR Amos Commission (4)  Purushottama Rao Commission _
2002 Sons® TR (PehEo 8.e.. o 610 5 ®HLn SES 8D 36800303 GBI EDRS 2 -
1) edbess 38 S8 (@) 830 ABED RS

@) 8.eb &3r% 5N @) DBRED P SRS

e

186. Who among the Telangana leaders was the first to suggest Vishalandhra ?

(1)  Gulam Rasool Khan @ 1.V.Narasinga Rao
(3) Devulapalle Ramanuja Rao (4)  KV.Ranga Reddy
Boorrs TEHHes® A5 TngEGe “DECOER” TS ?

1) D S5rS R @ B SEATY
B) BHoDY Trdrde 7Y 4) 3.2 Boredd

187. The two political parties which did not support the agitation for separate statehood in Telangana were :

(1) BJPandSP. )  CPI(M)and BJP

(3)  CPI(M)and MIM (4)  CPI(M)and BSP

8ob D Tresbah FFen (HEE Boorrm GRS DR BEB0SBD ?

1) 985 HHdc IR.D. @ DD (o) i D.ED.
@) 2.0..(cHo) HBcin Jo.8.20. @)  D.D.®.(cho) HOx D.AVD.

188.  The Linguistic Provinces Commission set up by the Government of India in June 1948 was headed by

(1) SK Patil 4% SK Dhar @3) Pataskar (4) PN Haksar

1948 =S &F 58 (HEHFO IS AAHDOIHAS grde HAng THS SIS SFHID 3D ?

1) N3 >85 ) N2 5 @) Ses @) DT 8
P-T 50-D
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189.  Assertion(A):  In2001 local body elections, the T.R.S. made an impressive show by getting 18 percent
of votes in the Telangana region. y§
Reas ¢ ici
eason (R) i‘:\‘i;‘l:lsep(!f the growing official neglect towards Telangana region in United
ol 'a Uradesh State K. Chandrashekar Rao Left ‘Telugu Desam Party’ and formed
clangana Rastra Samithi'. .
The correct answer is :
Both (A) : > .
g Botl (:) and (R) are true ang (R) is the correct explanation for (A)
(2) 0 .1( ) and (R) are trye and (R) is not the correct explanation for (A)
3)  (A)istrue but (R) is false
(4)  (A)isfalse but (R) is trye
POPES (A):
@ ) (A) 2001 &° espps P Soge LuE® B.66.8. 18 evdo Liy Sodaod wep3 808,
=) R):
e0 (R) zzgé WOS(HAS TS Boomn (@odin $§ JoER) OOS 05K Svoes
$80¥ore 3, So3pbory Bewrd Besw D $69 Bvoree oo SO FDoIx.
[0S Da3des ’
(1) (A) B0 (R)Botlr dassio, (R), (A) % SO QS5tes.
(2)  (A)&0 (R) B0t desiso, (R), (A) & 56 D580 St
@) (A)Jzso S (R) 8y,
@) (A) S D (R) desidon.
190. E}I’\e poll survey conducted in 2011 by the Centre for the Study of Developing Societies (CSDS) was headed
(1)  Rajdeep Sardesai (2)  Yogendra Yadav
(3)  Pranay Roy (4)  ArnabGoswami
2011 Son&® 2006 35 & f BsuboR FAS ®.95.8.05.) 3
2 S +0IR0.G. . ) B3 F0F DEBPODS (HerdDvah Ve
D0 eios® adhod ? 3% e =
(1) =B85 SBevow 2 o amss
B) (e oodh @) oBS A3
191.  Identify the wrong pair :
(1)  Palle Kanneru Pedutundi - Gorati Venkanna
(2)  JayaJaya he Telangana - Andesri
(3)  Urumandira - Chada Anjaiah
@ Amma Telanganama - Gaddar
S0R e 1H%0808
(1) 38 8 podos - KBS oSy
()  &ddachieBoorn - wodd
B) &BHssBo - O wondly
4) ség 8e0rmedr - 595
P-T 51-D
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192.  According to Gentlemen'’s Agreement two out of the following portfolios were to be assigned to ministers
from Telangana. They were:
(1)  Home, Finance, Revenue, Education, Commerce and Industries
@) _ Home, Revenue, Industry, Education and Planning
Home, Finance, Revenue, Planning and Developmentand Commerce and Industry
(4)  Finance, Electricity, Industry, Education and Rural Development
Db edjoto EEEED & Eob epud’ 00E00A Buomn 08 Serasomd. €3
1) D, 6y, BIETS, D deygo SO HB\FSoen
@) e, O3, Ho(Fer, i SO 0oh
@) TD, vy, TI 0of SOy €53 O areygin Bk HBFSen
(@) ogs, g8, DOEen, Difg O 566 BS0Eots
I
193.  Which one of the following statements is not related to the all party meeting organised by Kasu Brahmananda
Reddy, the Chief Minister of Andhra Pradesh?
(1)  All party meeting was held at Ananda Nilayam on 18t and 19th January 1969.
(2) Toimplementall party meeting decisions the G.O.No. 39 was issued by the Government of Andhra
Pradesh.
(3) 1J.Naiduand R. Vittal Rao were appointed to implement the decisions of all party meeting.
(4)  TheState Government appointed Kumar Lalith Committee to estimate surplus reserves of Telangana
on 23" January 1969.
& (BoB [H5S55Enes® OB woFEEs drpgiold S @FKoEts oz 305 oo SE HIRBIENID
$000809 96 ®anod S ?
(1) @350 18580 19,1969 &° efeo 5§ $5rRdo wdos Yoahos® ubACL.
2) odo SE AWoHEoH eHeTAENOHSD SOEIHBS [HeHsEn 8.5°. Jo. 399 b 3hob.
@) ©.8 wind Dok 6b. D6 TrHen sho S FErSE Maired sder SHDHEF DAHIOSDEB.
(4) Beorrs MH PO GOIT koo ooy [Sehdsn 23, S50, 1969 H5rE 008§ S8
QadHironod.
194. The political domination of Andhra ruling class over Telangana resulted in :
(1)  Both theregions enjoyed the fruits of development
(2) Establishment of separate Economic development zones
(3) . Increased agricultural income
jﬂ( Made the people of Telangana as passive recipients
Boorrn® o o SBJ orasfadh ©p¥E HSore :
(1) Bokr @otren ©HH)E Joren Drobeon
() (S8 wdsPH)R Sokeren AT?)E0DTPOD
(B) HgEIrado Hol sorabo HBACH
@) Boorrs (Huen SSeo (DES Sore ADIVANO
P-T 52-D
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The “Telangana Intellectyal p

195. ' d an i :
movement, Which one of the f"||m:r‘i:-::;lﬂfillg¥;,ln;T-[Ianlr:‘ﬁti:,rilt;';l role in the separate statehood
(1) Itconducted a Peasantsg March to the District Headquarters
@ n proposed “Chalo Assom bly”
g :: PUl‘"S_hE: a’Statement of Agenda’ for the people of Telangana
(a) ‘g““g 55;' “S!;"»‘ against Electricity Board
8OO FrPHo IO (H 58 8o, 4
AsS0d® (DGR (e D8 : D67y Gw
oS Sy 7 E5006® @FVS e Mhodod. Bob AL D6 &) @l
(1) &8 Zep Solr08 sy A Sshon
2 “sst o)’ SPEgE0 28808,
a8 “ “ws
C) 800 Beed e “YSD0s 68 eaom % BHBoSEo.
(@) d0Edd &85 358880 Fortro Sseo
__—‘-‘___-_‘_-_‘-—\—n__.__
196. Identify the wrong pair :
(1)  Telangana Martyrs day 17 May, 1969
()  Telangana Protest day - DVune 1060
By Telangana Betrayal day 20 Ap;il 1969
4)  Telangana Women's day 17 June, 1969
[0 w8 HoSos
(1) Beorrsm esdDHe %0 173, 1969
(2) Boorre 8IS BXo - 273, 1969
(B) Boorres HoSS B ’ 20 H®S, 1969
(4) Boorre Hrer B350 - 17 2%, 1969
197. Assertion (A): The fruits of new market economy unleashed from the 1990s were enjoyed mostly by
the Andhra ruling class,
Reason (R): The pitfalls of development were borne by the people of Telangana.
The correct answer is :
Both (A) and (R) are true and (R) is the correct explanation of (A)
(2)  Both(A)and (R) are true and (R) is not the correct explanation of (A)
()  (A)istruebut (R) is false
4)  (A)isfalse but (R)is true
(P8ISS (A): 1990 H008 (@D Ir8S SrT)S QS 58 D) Pero Se wolFoBostD FossBo
rEHE00.
80 (R): 5B DHE e Seodril) Boorn (B gostes 5908,
JOGDS DGk :
(1) (A)SBdtio (R) Bor Qesiiv, (R), (A) & RBIE DdBea.
(2)  (A)S00dsw (R) Bor Dessk, (R), (A) ¥ J0THS DdBes sotso.
) (A)duso 9 (R) 8y,
@) (A)8G) s° (R) Desiso.
P-T 53-D
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198.  Arrange the following important Agitations in chronological order under the leadership of students of

Osmania and Kakatiya Universities.

(@)  ‘Telangana Vidyarthi Garjana’
(b)  “Chalo Assembly’

()  ‘Telangana Vidyarthi Mahagarjana .

(d)  “Vidyarthula Polikeka’ by Kakatiya University Students 2 gt

(@)  ‘Boorrwm Do Foge’

(b) ‘$6° wod)

(€ ‘Beorrg :Javég Sospriges’

@)  s8Bosh crBeyS domged Atrosnd Drgge SO

Chpose the correct answer /RS0G5 e Do Babod :

(J?m (a), (b), (<), (d) @ (b)) (d) () @ (9)(b)(a).(d) @ @@ ®@

199.  Which one of the following statements made in A.P. Legislative Assembly in June 1961 is not correct ?
(1) “If the Government takes immediate steps to provide basic necessities to the people of Telangana,
then there is every possibility of emotional integration of both the regions at the earliest
- P.V. Narsihma Rao.
(2)  “The Securities and Revenue surplus of Telangana has been spent on Andhra region. If only that
amount and another four to five crores were spent on Telangana, it would have developed well”

- P.Sundarayya. _ ‘
(6{ “Itis five years since Vishalandhra was formed. But there has been no emotional integration. The

policies of N. Sanjeeva Reddy were responsible for it - Ravi Narayan Reddy.
(4)  ”No one wanted to rob Telangana money. We are just thinking as to how to solve the problem”.
- Chief Minister N. Sanjeev Reddy.

25 196165 AP, 953 %56 32 & 1808 BSOS $8zR8 28 ?

1)  “Boorrs (Buoh SHYR Soy @5Te SIS [HeHE0 JoS Fossme Stgen B:Ho8, wod
oL, Boorrs, woll &giad (EFrosine Dt DIPEES acBRRS, rHTEHEEHS dikkn
OIS edsedo dotnod”. — 5.9, SBROPTRY.

2) “Boorrn &) EmBES, BIKm Divesd woE@rosins pi)DLE0 23dRod. & Booren
&ey) $0cs» Teith 8y e piyDEHod Boorrn ar ©hH)E Bob dots”. - b. Hosbas;

@) “Dewrold B 5RoSETren ©PHHHD. SR DARRNS 0BRRS atrSs. 58 BoBBEME
©500odd IFrILEnS Lnggsdndy” - oD TTaHedE.

(@) “Boorrm tep ©SIFBoTOR aF¥0 568 B, VKD O Difore FOKHBoTLT Wt DyTHIL”.
- Soggfio® Awo SodS0G.
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200. Identify the leader who did not appose the disintegration of Hyderabad state and
represented the same to the states Re-organisation Committee.

(1) Pundit Narendraji (2) Pundit Vinayak Rao
Gopal Rao Ekbote (4)  Kotturu Seetayyagupta
ToorerS o Ve £588805one, i) B-urREAS S88 o8 eorbmor DepSE ©oLsTdOd
oS ? g_
(1) H088 Sosd () $ol8 drehs T
@) >S o 8N8 @) EErt bIaskgog
-000-
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